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30ipHMK TEKCTiB JUIS YWTaHHA 3 AaHDIIACBKOI MOBH s Yy4HIB MpodeciiHux
(mpodeciiiHO-TeXHIYHUX) HABYANBHUX 3aKIadiB 32 CIHEIaTbHICTIO «ATPOIHXEHEpis» Ta 3a
npodeciero « TpakTOPUCT-MAIMUHICT CLTBCHKOTOCTIONAPCHKOTO BUPOOHHIITBAa» - ¢. OJeKcaHIpiBKa,
2018 p.,68c.

Vxnanau: Mukyaina Ceitiiana MukoJiaiBHa - BUKJIaJad aHDIIHCHKOI MOBH, crieniaiict I kareropii

B nmanomy 30ipHuky mnpexacraBieHo 20 TekcTiB g uutaHHd g yuHiB [ITH3 3a
CHEIIANIBHICTIO  «ATpOoiHKeHepisH» Ta 3a nmpodeciero « TpakTopucT-MalmHICT — CUTBCHKOTOCTIONAP-
CHKOTO BHPOOHHULTBaY. [0 KOXKHOTO TEKCTy MPOMOHYETHCS KOMIUIEKC 3aB/aHb, K1 BIANOBIIAIOTh
MPUHLIMIY KOMYHIKaTUBHOI CHpPSIMOBAaHOCTI. BcCl 3aBraHHs 3 YHMTaHHS JIGKCUKH Ta TI'paMaTHKU
moOy10BaH1 Ha OCHOBI BIJIMTOBITHOTO TEKCTY, 100 JOMOMOTTH yYHSIM HAaOyTH 1 PO3BUHYTH HABUYKH
y PO3yMiHHI JIEKCUKH TIPodeciiHOl CIpsSIMOBAHOCTI. 30IpHUK MICTUTh MaTepiaiu Il IPOBEICHHS
TECTIB 3 aHNIKChKOI MOBH (3a mpodeciiHuM crnpssMyBaHHAM). TecTH po3poOieHI i BUSBICHHS
piBHSA 3aCBO€HHS 3HaHb, BOHHU JONOMAaraloTh CHCTEMAaTU3yBaTH 3HAHHS JIEKCUKU 1 TpaMaTHKH,
JI03BOJISIFOTH YPI3HOMAHITHUTH METOAM KOHTPOITIO Ta EPEeBipKH 3HAHb 1 HABUYOK.

Metoto naHoro 30ipHHMKAa € CTHMYJIIOBAHHS BUBYCHHS AHTIIMCHKOI MOBH, JJISi 3100yTTS

KOPHCHOT 1 1ikaBoi iH(opMarlii, moB’s3aH01 3 MaltOyTHHOIO CIEIIAIbHICTIO.

Cepen TUIIOBUX 3aBJaHb 301pHUK MPOTOHYE HACTYIIHI:

(] BCTaHOBJIEHHS MPaBUJILHOT/HEMPABUILHOT BIMIOBI/IL;

(] BUOIp 3aroysioBKa, 3amUTaHHS a00 KIOYOBOTO TBEP/KECHHS, IO TEPEaac TOJOBHY IYMKY
TEKCTY;
PEKOHCTPYKIis TEKCTY Ta 3alIOBHEHHSI TPOMYCKIB;
pO3TalIyBaHH YaCTUH TEKCTY B JIOT1YHIM MMOCIIJOBHOCTI;
BUOIp NpaBUIIBHOT rpaMaTUYHOI (POPMH (J11€CIIOBO, IMEHHUK, TIPUCITIBHUK, TOIIIO)
3allOBHEHHS POITYCKiB 3aIIPOTNIOHOBAHIMH CIIOBAMU;
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3aBJaHHA HA BIAMOBIAHICTG.

Mera 3aBmaHb TEpEeBIPUTH piBeHb C(HOPMOBAHOCTI MOBHOI KOMIETEHINi Yy4YHIB, iX
JIEKCUYHO-TPaMaTH4HI HaBUYKH, CTYNICHb 3aCBOE€HHS HUMHU CHCTEMHHUX 3HAaHb IPO MOBY, K 3aC0O0y
BUPAXEHHSI YMOK 1 IIOYYTTiB JEOAMHHU.

Marepianu 30ipHHKa MPU3HAYEHI SK JJIS CAMOCTIHHOIO ONpAallOBaHHS YYHSAMH, TaK 1 JJs
po0OTH i KEPIBHUIITBOM BHKJIa/1a4a.

[Ipu BukopucTaHHi 30ipHHMKa JUIs OILIHIOBaHHS 3HAHb Y4YHIB mepeabadaeTbcs poOora
BUKJIa/Iaua OO0 PO3POOKM KPHUTEPIIO OI[IHIOBAHHS, TOMY IO KOXXEH TEKCT 3 3aBJAaHHAMU MOXKE
BUKOPHCTOBYBATHUCS SIK KOMITJICKC 3aBJIaHb B IILIIOMY, 200 OKpeMi 3aBIIaHHS.

PosrsinyTO Ta cXBajeHo 3arBepKEHO Ha 3aciaHH] MeIaroriyHol pajau
Ha 3acCiJaHHl METOAUYHOI KOMIiCiT [Tpotokon Ne 1 Bix 11.01.2019 p.

MexaHi3aIlii CIbChKOTO TOCTIOAapCTBA PimeHHsIM HaBUATbHO-METOAUYHOI pagau
ITpotokon Ne 4 Big 05.11.2018p. HMII IITO y /IninponeTpoBchbKiii obmacTi

[Tporoxonm Nel Bim 22.02.2019 pexomeHI0BaHO
JUTSI BAKOPUCTAHHS B TI€IarOT14HIN JisSUTBHOCTI.
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BCTYII

Hesanexna Ykpaina Mae 3B’s3Ku 3 0ararbMa KpaiHaMH CBITY, COTHI CIUTBHHX
MIIIPUEMCTB 3’ SIBIISIIOTHCS B 6araTh0X MIiCTax KpaiHH, THCSYI JIOAEH 1MyTh 32 KOPJIOH.
ToMy OnHI€IO 3 XapaKTEPHUX PUC CYYACHOTO JKHUTTS € BEITUKHHA IHTEPEC 10 BUBUCHHS
iHO3eMHUX MOB. Oco0n1Ba yBara NpuAUISIETbCSI BUBUEHHIO JIEKCUKH 32 TIpodeciitHum
CIPSIMYBaHHSIM.

InozemHa MoBa, 30Kpema aHIVIIHCBbKA, € HEBIJI'€EMHHM 3aco0oM
MIKKYJIBTYPHOTO, JIJIOBOTO CHUIKYBAaHHS. PiBeHb YCBIJIOMJIEHHSI YUHSIMU OTPUMaHHUX
Ha YpOKax 3HaHb Mae€ pilllyye 3HAYECHHA. 3aBISKH TECTOBUM KOHTPOJBHUM poOOTaM
BUKJIaJ]ad4 Ma€ 3MOTy MPOaHaji3yBaTH, HACKIJIbKU MOBHO 1 MPaBUJIBHO YYHI 3aCBOLIH
marepiai, a TakoK € € MPOTaIMHU Ta CKIACTH IUIaH MOoJajibinoi pobotm 3
ypaxyBaHHsIM HaOyToi iH(opmarrii.

Jlanuii 30ipHUK po3paxoBaHUW Ha cCTyaeHTIB [V-V-ux KypciB 3 MeToro
MepeBIpKU 3HaHb Ta HABUYOK. Y MPOTMOHOBaHIM pPOOOTI BUKOPHUCTOBYIOTHCS PIi3HI
3aBJaHHA JI0 TEMaTHYHHMX TEKCTIB, TECTOBl 3aBIaHHS, SKI MICTATH JEKCHYHI Ta
rpaMaTU4Hi 3aBJJaHHS 3 TUX TEM IO CIEHIANIbHOCTI, K1 BUBYAJIUCH MPOTITOM KYpPCY.

Tectn pmomoMararOTh CHCTEMAaTHU3yBaTW 3HAHHS JIEKCMKH 1 TpaMaThKH,
JI03BOJIAIOTh YPI3HOMAHITHUTA METOJM KOHTPOJIO Ta TEPEBIPKU 3HAHb 1 HABUYOK.
JUJ1si BUKOHAHHS TECTIB CTYJ€HTaM HEOOX1JHO MOBTOPUTHU BUBYEHI rpaMaTH4Hl TEMH
Ta JIEKCUYHI OAMHMIN, IO CHpPHsE y3arajJbHEHHIO Ta CHCTEMaTH3allii BUBYEHOIO
Marepiaiy.

O1uiHOBaHHS Ma€ IPYHTYBATHCS HA MMO3UTUBHOMY MPUHIIHII, 1110, HACAMIIEPE/I,
nepen0dadae BpaxyBaHHS PiBHS HaBYAIBHUX JOCSTHEHB CTYACHTA, a HE CTYIICHS HOTO
HeBJla4. 3T1JIHO 3 I[UM TECTOBI 3aBIaHHS MPOCTI, 1IKaBi, YITKO CIJIAHOBaHi, 3p03yMui
JUISL CTYICHTIB.

Jlana MeToauvHa po3poOKa BIAMOBITAE BHMOTaM HaBYaJIbHOI IpPOrpamMu 3
IUCIUILIIHHA.

[TociOHUK NMpU3HAYCHHH U1 YUHIB Ta BUKJIa1adiB MPodeCciiHO — TEXHIYHUX
HaBYAIHHUX 3aKJI/IiB.



1. Read the text. What is Agriculture. The Branches of Agriculture.

Agriculture is an important branch of economy. Economic growth of any country depends
on the development of agriculture which supplies people with food and clothing and industry with
raw materials.

The word “agre” is a Latin word. It means the cultivation of fields in order to grow crops.
Now agriculture also includes the use of land to breed farm animals.

We do not know when people began to grow crops. It was many thousand years ago. Now
crop production and animal husbandry are highly developed branches of agriculture.

Life is impossible without plants. They play a highly important role in everyday life of people.
Plants that are grown by farmers are known as farm crops. They are used for many different
purposes. Most of them are used directly as food for people, some are consumed by farm animals,
others are used in industry and medicine.

In order to increase crop yields and animal products our farmers apply widely intensive
technologies.

There are two main branches of agricultural production — crop production and animal
husbandry.

Crop production is the practice of growing and harvesting crops. The most important crops grown
by man are grain crops, vegetables and grasses. In order to obtain high yields crops are grown under
favourable soil and climatic conditions.

Animal husbandry is a branch of agriculture including the breeding of farm animals and
their use. Dairy and beef cattle, hogs, sheep and poultry are widely bred throughout the world. Farm
animals are highly important sources of food for man. They are kept for the production of such
nutritious products as meat, milk and eggs.

Many crops grown by man are used in feeding livestock. At the same time manure produced
by farm animals is an important source for the maintenance of soil fertility. Most of the nutrients
taken by plants from the soil are thus returned. Applying manure, farmers improve the physical
condition of the soil.

Thus, crop production and animal husbandry are closely connected with each other.

2. Answer the following questions on the text.
1). Why is agriculture very important?
2). What are the two branches of agriculture?
3. What does the Latin word “agre” mean?
4). Is life possible without plants?
5). Where are farm crops used?
6). How do people increase crop yields?
7). What is crop production?
8). What are the main farm crops?
9). What does animal husbandry include?
10). What products do farm animals produce?
11). What is manure used for?
12). How do farmers improve the physical condition of the soil?



3. Finish the sentences.
1). Agriculture is an important ... .
2). Economic growth of any country depends on
3). The word “agre” means the cultivation ... .
4). Life is impossible ... .
5). Farm crops are ... .

6). There are two main branches of agricultural production - ... .
7). Animal husbandry is a branch of agriculture including the breeding of ... .

8). Crop production is the practice of ... .
9). The most important crops grown by man are
10). Farm animals are highly important ... .

11). Farmers improve the physical condition of the soil ...

4. Find the Ukrainian equivalents in

the second column.

1. agriculture a. BpoyKail

2. crop production b. ranyss

3. consume C. TBAPUHHHIITBO
4. use d. ;ukepenao

5. branch e. xyno0a

6. purpose f. cran

7. yield g. CLITbChKE TOCIIOIAPCTBO
8. animal husbandry h. orpumaru

9. livestock 1. BADOOHHIITBO
10. obtain ]. POCIMHHHUIITBO
11. source k. meTa

12. production

1. cmoxxuBaru

13. condition

M. BUKOPHCTOBYBATHU

5. Find the sentences in the text and translate them where are said about the

fact ...

1) mo gae ciabChKe TOCTIOAAPCTBO MMPOMHUCIOBOCTI;

2) 10 o3”Ha4dyae€ CJIOBO CUIbCBKE rocrnogapcCTBoO,

3) sIK BAKOPUCTOBYIOTh POCIIMHH, SIKi BUPOIILY€E JFOIUHA;
4) axuil OCHOBHUH HUISAX 3017bIICHHS MTPOAYKTIB XapuyBaHHS ChOTO/IHI.

6. Name the Ukrainian equivalents o

f the following international words.

effective - to mechanize -
climate - tendency -
machine - tradition -
tractor - traditional -
combine - industrial -
bulldozer - adaptation -
specialist - economic -




1. Read the text. Agriculture in Ukraine.

For centuries agriculture has been an integral part of everything Ukrainian. The symbols of
earth, fertility, plants and sun are everywhere. Traditionally mostly peaceful peasants populated the
territory of Ukraine. The ancient practice of living off the soil and agricultural products has made
Ukraine one of the world leading producers of grains, vegetable, oils, sugar. If you are looking for
the country with favorable conditions for agricultural business there is hardly a better option than
Ukraine.

Despite the dramatic changes Ukrainian economy has been passing through during the last
decades, the national agricultural sector still holds its strong positions mainly due to its abundant
resource base. The major alimentary products exported internationally are grains, rapeseeds,
vegetables, sugar, sunflower oil, milk powder and meat.

20% of the agricultural exports including non-food batches go to Russia, while the countries of
the European Union take up to 17% of the volume. China, Turkey and the United States of America
receive 7%, 6% and 4% of food exports from Ukraine respectively.

Sugar and oil processing is another major segment of the Ukrainian economy. Research showed
that one out of four people in Ukraine works in agriculture or forestry which speaks expressively
enough for the largest European country with 46 million people.

Experts claim only 45-50% of the Ukrainian arable lands are used to cultivate crops while meat
and poultry production has drastically decreased over the past decade despite the world’s growing
demand for food. Private farmers run their businesses mainly due to legal agreements allowing
using the land for the time periods from 5 to maximum 49 years. The economic forecasts proving
agricultural output of Ukraine is not likely to be seriously affected by the world financial crisis
make this country one of the most attractive for exploration and investments.

2. Answer the questions.

What is an integral part of everything Ukrainian?

Who is populated the territory of Ukraine?

What country is a better option for agricultural business?
What are the major alimentary products grown in Ukraine?
How many people works in agriculture?

How many Ukrainian arable lands are used to cultivate crops?

AU S e

3. Complete the sentences.

1. The ancient practice of living off the soil and agricultural products has made Ukraine one of
the world leading producers of .....

2. The national agricultural sector still holds its strong positions mainly due to ... .

3. Ukraine exports 20% of the agricultural products while the countries of the European Union
4. Another major segment of the Ukrainian economy is ...

5. Ukrainian meat and poultry production has drastically decreased over the past decade
despite ... .

6. Our country is one of the most attractive for ... .



4. Find the equivalents.

1. plants a. o0poOIITH
2. favorable b. CiIbCBKOTOCIIOAAPCHKI KYJIBTYPH
3. mainly C. yroga
4. sunflower d. pociuan
5. include €. CIPUSTIUBUAN
6. volume f. roNOBHUM YHHOM
7. enough g. COHSIIHUK
8. cultivate h. BkitouaTH
9. crops 1. o0OcsT
10. agreement g. TOCTaTHbO
5. Translate the sentences into English.
1. VYkpaina — e kpaiHa 31 CIpUATIMBUMUA YMOBAMH JJISl CUTBCHKOTOCTIONAPCHKOTO O13HECY.
2. VYkpaina € 0IHOI0 3 BCECBITHRO BiJJOMUX BUPOOHHMKIB 3€pHA, 0JIii, OBOUIB Ta I[YKDY.
3. OCHOBHI NIPOITYKTH, SIKI YKpaiHa €KCIOPTY€E Ha CBITOBHI PUHOK — 1€ COHSIIITHUKOBA OJIis,

3€pHO, IyKOP, MOJIOYHI MPOIYKTH Ta M’ SICO.

4. JlocaiIHUKY TIOKAa3aJy, 10 B YKpaiHi OIMH 3 YOTUPHOX JIOAEH MPAIIOE B CLIILCHKOMY
TOCITOJIAPCTBI.
5. B Vxpaini Tineku 45%-50% poarounx rpyHTIB BUKOPUCTOBYIOTH JIJIsl BHPOIIYBaHHS

CLITBCHKOTOCITOIAPCHKUX KYJBTYP.

6. Read the text again. Tick (+) True, (-) False or write (?) if there is no
information.

1. Experts claim only 55-60% of the Ukrainian arable lands are used to cultivate crops while meat
and poultry production has drastically decreased over the past decade despite the world’s
growing demand for food.

2. The ancient practice of living off the soil and agricultural products has made Britain one of the
world leading producers of grains, vegetable, oils, sugar.

3. The symbols of earth, fertility, plants and sun are everywhere.

4. Sugar and oil processing is another major segment of the Ukrainian economy.

5. There are two main branches of agricultural production — crop production and animal
husbandry.

6. China, Ukraine and the United States of America receive 7%, 6% and 4% of food exports from
Britain respectively.



1. Complete the text with the words from the box.

grain planting, population, is rich in, agro-industrial complex, sugar beet and potato, climate
conditions, cattle, flax and potato, north-western, horses, north-western part, widespread.

Agriculture in Western Ukraine

This region diverse agricultural and natural resources. Geographically it
can be divided into the Western part (or Carpathians) and the
Carpathians region includes Lviv, Zakarpattya, Ivano-Frankivsk and Chernivtsi regions.
The total area is 56,6 thousands km? with the reaching 6,1 mln people.
The of the area includes agriculture and processing industries.
In a forest-steppe area cattle breeding, pig breeding, , flax and sugar beet
cultivation are .
In the mountains the breeding prevails. Due to the geological and
these lands can’t be used for arable planting. Therefore, sheep breeding
traditionally played the leading role here. The steep mountain slopes are suitable for this
agricultural sector. Polonyny or subalpine grasslands are covered with bilous — plant which only

sheep can eat. are also popular here. In Zakarpattyaregion you can find lots of
households involved into viticulture, gardening and tobacco cultivation.
The area consists of Rivne and Volyn region where 2,2 million people

live. The total area is 40,3 thousand km?. The average density of the population is 55 people per 1
km? which is the lowest rate in the country.

People mostly cultivate rye, flax, hop, winter-crops, wheat, . However the
region tends to live off cattle breeding: pig and sheep breeding, poultry, rabbit and fish farming, as
well as beekeeping are popular.

Thousands of family households are small and most are poorly equipped. Local farmers work in
fields as they have been doing for years. They cut hay with hand scythes, carts and ploughs are
driven by

2. Read the text again. Tick (+) True, (-) False or write (?) if there is no information

1.This region is poor in diverse agricultural and natural resources.

2. Geographically it can be divided into the Western part (or Carpathians) and the East-Western
part.

3.Carpathians region includes Lviv, Zakarpattya, Ivano-Frankivsk and Chernivtsi regions.
4.The total area is 52,6 thousands km? with the population reaching 6,7 mln people.

5.The agro-industrial complex of the area includes agriculture and processing industries.

6.In the mountains the poultry breeding prevails.

7.The steep mountain slopes are suitable for this agricultural sector.

8.People mostly cultivate rye, flax, hop, winter-crops, wheat, sugar beet and potato.

9.Local farmers cut hay with hand scythes, carts and ploughs are driven by horses.

3. Translate the words into English.
| MIPUPOIHI PECYPCH -

| JIBOH 1 KapPTOILIS - | XMEJb-




TEXT 4

L

1.

Read the text.

Operating and Maintaining Tractors

A tractor must be well maintained and operated so that the need for repair is reduced to a

minimum. Repairs are expensive and there may be difficulties in getting the necessary parts

and installing them.

A tractor operator should be able to operate, adjust and maintain his tractor. He should have

knowledge and skill necessary for doing unspecialized tractor repair. The more specialized

repair such as reboring cylinders, replacing worn parts is to be done by a qualified
mechanic.

Most tractor service work includes the engine, so the repair and adjustment information on

engines is useful.

A clutch is a disk mechanism operating on a friction basis. A clutch permits the gradual

application of power from the engine to the load. It permits the disengagement of the engine

from the drive mechanism for starting, for shifting of gears and for idling.

Clutch should be check periodically, since the pedal linkage wears with use and may need

adjustment. A tractor operator must know the method of adjusting the linkage. Lack of

clearance of the clutch pedal may reduce power and cause overheating.

When a tractor’s transmission needs repairing, special equipment is necessary. Several

checks on the transmission can be made by the operator of a tractor.

- Ifoil leaks are present the gaskets need tightening or replacing.

- The axle bearing is to be examined by lifting each wheel up and down with a bar and by
pushing and pulling each wheel side wards.

- Rear wheel brakes should be checked for wear and for the adjustment needed.

- The belt pulley bearing and drive gear need checking for wear. The belt pulley
mechanism needs regular cleaning and servicing, a special lubrication device being used
for its lubrication.

- New lubricant must be added to maintain the oil at its proper level.

- After draining the transmission it is flushed with kerosene and refilled with transmission
lubricant.

The belt pulley is usually located in the right side or at the back. On some tractors the belt

pulley may or must be removed when the tractor is not being used for belt work.

The power take — off shaft on a tractor is powered directly from the engine and may be used

to operate machines. It is usually controlled by a separate disk clutch which is operated

hydraulically. Thus, the motion of the tractor does not affect the speed of the PTO — shaft
and starting or stopping the PTO — shaft does not affect the speed of the tractor. One must
stop the shaft before dismounting from a tractor.

The steering mechanism is to be examined for wear and for repairs and adjustment needed.

If the steering is of the hydraulic type, there is no mechanical connection between the

steering wheel and the front axle. If the steering mechanism has a mechanical linkage, the

linkage should be lubricated and checked for wear periodically.

Tractors are often equipped with brakes that are hydraulically operated. The tractor operator

has to inspect the brake mechanism before adjusting the hydraulic break valve and the brake

pedals.

. All trailing implements are often attached to the drawbars being equipped with different

types of drawbars. The tractor operator must follow instructions regarding hitching and
adjusting the drawbar.



2. Find in the text English equivalents to the given Ukrainian one.

TPAKTOPHCT TIePEeMHUKAHHS ITepeIad
KepyBaTu MIPUCYTHE BUTIKaHHS MacTuiIa
perymnroBaTu i 00CIyroByBaTH TPAKTOP BICh MiAIIMITHAKA
HecIeliagi30BaH|i PEMOHT TPaKTOpa rajibMa 3aJJHbOTO KoJieca
3aMiHa 3HOILIEHNX YaCTHH TIIAITHYK [TKiBa PEMEHS
MOCTYIIOBE 3aCTOCYBaHHS JTUCK 34ETUICHHS

KEepMO PY/IbOBUN MEXaH13M

3. Answer the questions.

1. What must a tractor - operator do to operate and maintain a tractor well?

2. For which details the periodically checking and adjusting are needed?

3. Which are the types of steering?

4. The tractor operator has to inspect the brake mechanism before adjusting the hydraulic break
valve and the brake pedals, doesn’t he?

5. Must the tractor operator follow instructions regarding hitching and adjusting the drawbar?

6. Must the tractor operator do the examination of steering mechanism?

7. Has the tractor operator to inspect the brake mechanism before adjusting the hydraulic break
valve and the brake pedals?

4. Complete the sentences using the proper words from the box into the gaps.
Translate the sentences into Ukrainian.

a. large; b. clutches; c. multipurpose; d. axle; e. special; f. four-wheel; g. farm.

1. The classic ..... tractor is a simple open vehicle, with two very large driving wheels on an
..... below and slightly behind a single seat.

2. Some ..... drive tractors have the standard "two large, two small" configuration typical of
smaller tractors, while some have four ...... , powered wheels.

3. Larger types of modern farm tractors include articulated four wheel or eight-wheel drive
units with one or two power units which are hinged in the middle and steered by hydraulic
....... or pumps.

4. A farm tractoris ...... power unit.

11
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Thn cvnn 4a an analéicnen A 41,

1. Read the text.
INTERNAL COMBUSTION ENGINE

Internal combustion is the process of burning of fuel within the engine. The fuel
burns within the engine and provides forces. These forces provide the engine power.

Internal combustion engines have stationary, rotary and reciprocation parts.
Stationary Engine Parts The stationary engine parts are the cylinder block, the crankcase and
the cylinder head.

The cylinder block is one of the basic parts of the engine. The process of combustion
takes place within the cylinders. Tractor engines have some cylinders.

The crankcase is a part of the cylinder. It supports the crankshaft and the camshaft
and keeps the lubricating oil near the engine parts.

The cylinder heads close the cylinders. The cylinders and the cylinder heads form
the combustion chambers.

The burning of fuel takes place within the combustion chambers.

Rotary Engine Parts Rotary engine parts are the crankshaft, the flywheel and the camshaft.
The crankshaft changes reciprocating motion of pistons to rotary motion. The
camshaft opens the valves of the engine.

2. Fillin the blanks with the proper words from the box.

Cylinder heads, camshaft, burning, crankcase, crankshaft, cylinder block

I.The................ changes reciprocating motion of pistons to rotary motion.
2.The .............. opens the valves of the engine.

3.The .............. is one of the basic parts of the engine.

4.The cylinders and the ............... form the combustion chambers.

5.The ............. of fuel provides forces.

6. The .............. keeps the lubricating oil near the engine parts.

3. Translate the sentences into Ukrainian.

1.The crankcase has the lubrication oil.

. The cylinder block and the crankcase are stationary engine parts.
. The engine has rotary parts.

. The camshaft, the flywheel are rotary parts.

. Crankshaft changes motion.

. Crankcases support crankshafts.

. These forces provide power.

. The piston moves within the cylinder.

. The cylinder head close the cylinders.

O 00 3 N L & W N
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4. Form with the help of suffix — ion the nouns using the verbs given below
and translate them into Ukrainian.

For example: To connect — connection — 3’conyeamu - 3’€OHaHHA

To complete -... ... 3aKiHYyBaTH - ...

Toact- ... TSITH - ...

Torotate - ... .. obeprarucs - ...

Toconvert- ... ... MEePETBOPIOBATH - ...

Toignite - ... ... 3arnajifoBaTH - ...

To lubricate - ... ...l 3MallyBaTH - ...

Circulate- ... . obepTarucs, LIUPKYIIOBATH -...
Tovibrate ... ...l BiOpyBaTH, KOMTUBATHCA - ...
Tocompress - ... .. CTHCKATH - ...

5. Match the English and Ukrainian equivalents of word — combinations.

10. Rotary motion -

A N AR o e

Cylinder block —

Piston rings —

Combustion chamber —
Intake valves —

Engine parts motion —
Fuel combustion process —

a. KOJTIHYACTHH BaJI 1 pO3MOAUTBUNN BaJl
b. MmacTuio

c. obepranbHUl pyx

d.nuniHApUYHA TOTOBKA

€. 3BOPOTHBO — MOCTYIIAJIBHUN PYX
f.eHeprist IBUTYHA BHYTPIIIHBOTO 3TOPAHHS
€. TIPOLIEC 3TOPAHHS MAIBHOTO

h. pyxomi yacTuam n1BUTYHA

1. BITyCKHI KJIaITaHH

|-.Kamepa 3ropaHHs

Internal combustion engine power -
Reciprocating motion -
Cylinder head -

11. Lubricating oil - K\ mopirHeBi KiTbIs
12. The crankshaft and the camshaft - |. TimiHapUYHUA GII0K

6. Make up the sentences using the given words.

1. Within, burns, the fuel, the cylinder.

2. Of, changes, reciprocating, the crankshaft, the motion, pistons.

3. The crankcase, is, of, a part, the engine.

4. Study, we, engines.

5. Takes place, the combustion, chamber, in, burning, the process, of.
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TEXT 6

1. Read the text and do the tasks.
Diesel Starting System

Some diesels use an additional gasoline engine for starting. The small engine is attached to
the diesel by means of clutch. The gasoline engine is known to crank the diesel until the diesel
starts. Exhaust from the starting engine is used to heat the intake manifold of the diesel engine.
After a short warm — up period, the compression lever is returned so that the diesel will start.

Most farm tractor diesels use electric starting motors similar to those used in gasoline engine
tractors. They are operated from the battery on the tractor. In warm weather starting is usually not a
problem, but for cold weather starting there are several starting aids. Some tractors are equipped
with electric plugs to heat the intake manifold warms the air entering the engine so that the engine
will start when cranked by the starter.

To start an engine either may also be used. Either has a low ignition point so that the heat of
compression in cold weather is enough to ignite the either. This will then ignite the fuel charge.
Fuel is highly explosive and must be injected into the engine only when the starter is cranking the
engine.

Engine — block heaters can also be used to start the diesel engine. These heaters are usually
electrically operated and heat either the oil in the crankcase or the engine coolant.

2. Put “True” if the sentence is corresponds to the text and “False” if the
sentence doesn’t correspond to the text.

1. The small engine is attached to the diesel by means of clutch connection.

2. After a long warm — up period the diesel will start.

3. Most farm tractor diesels use electric starting motors.

4. In warm weather starting is usually a problem, because there are several starting aids.
5. Some tractors are equipped with electric plugs and a crank.

6. The heat of compression in cold weather is enough to ignite the diesel engine.

3. Find the English equivalents to the given Ukrainian ones.

JI01aTKOBUI OCH3WHOBUH JIBUTYH JUISI 3aITyCKY
HarpiBaTu BIIyCKHUH maTpy0oK
KOMIpECIHHUHN piBEHb

€JIEKTPUYHI ITyCKOBi IBUTYHU

€JICKTPUYHI CBIUKH

HHU3bKa TOYKA 3aIlaIlOBaHHS
MTAJIMBHUM 3apsiz

BHCOKO BUOYXOBUI
JBUTYHHI TIIYKU

(0. IBUTYHHUI OXOJIOIKYBad

bk W=
= 0 X R

4. Answer the questions.

1. Which type of engine has an additional gasoline engine for starting?
2. By what a way is the small engine attached to the diesel?
3. What is used to heat the intake manifold of the diesel engine?
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TEXT 7

1. Read the text and translate it into Ukrainian.
Agricultural Machinery

The system of food and fiber production in agriculture is highly mechanized. These
mechanized systems extend from initial tillage of the soil through planting, agricultural practices
during the growing season, protection from pests, harvesting, livestock feeding and delivery for
processing.

The tendency has been to large self — propelled special — purpose machines; in tillage the
tendency has been to large four -, six — or eight wheel or crawler tractors which trail high —
capacity plows or discs and alsosubsoilers used to loosen compacted soils.

Farm machines have undergone changes and improvements to become the modern and
effective agricultural power units of today. New developments have made them more efficient,
versatile, safe, convenient and powerful. Continuous improvements in design produced highly
mechanized machinery with hydraulic linkage and control system.

While many implements such as plows, cultivators and fertilizer spreaders are usually
mounted on tractors, there are many that are too large and are trailer behind and controlled and
operated hydraulically. Some multi - purpose machines are used where a high degree of precision is
needed for precision tillage, planting, bed shaping and fertilizing. They have to till the soil, form
seedbeds, form irrigation furrows, either ... plant the seed or cultivate the crop and apply fertilizer
in one pass through the field. The use of aircraft has revolutionized many farming operation:
fertilizers and herbicides, are applied from the air.

Farming operation includes plowing, harrowing, planting, tilling, harvesting, drying and
processing crops.

Soil preparation for planting usually involves plowing and harrowing. Plowing is often the
most important farming operation, not only because of the basic nature of the work but also from
the standpoint of power required.

The essential feature of plowing by moldboard is that a layer of soil is separated from the
underlying subsoil and is turned, so that any vegetation or manure present on the surface is buried
and a layer of soil from below is brought to the surface where it is exposed to the action of
weathering agents and of agricultural implements.

The harrowing of the plowed soil is designed to break clods, level the surface and destroy
weeds. A wide variety of implements are classified as harrows, the most common kinds being the
disc harrow and the knife harrow. Previously, the function of seedbed preparation was performed
entirely by the implements classified as harrows. With the introduction of power farming, it is now
performed in large part by field cultivators, rotary tillers and various designs of rollers. Power —
driven rotary tillers perform the function of both plowing and harrowing.

2.Answer the questions

1. Which kinds of agricultural machines do you know?

2. Which information about agricultural machines?

3. Which implements do you know?

4. Which farming operations do you know?

5. Which farming operations does the soil preparation involve?
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6. Which kinds of harrow do you know?

3.Match English and Ukrainian variants.

: 0
1. Fiber production — 2 Hzfgzia;pom .
2. Initial tillage - P TPyA
. c. 00poOIsATH 3eMITIO
3. Growing season — d. dopmysari rpszKu
4. Livestock feeding — ' pMy : e
: . €. POCIUHHICTb
5. high — capacity plows — £ avr
6. subsoilers — ) FHi}I;I
7. versatile — ﬁ S
8. convenient — by
i. BigBan
9. plow - j. PpO3KHMIa4 J00pHB
10. cultivator — Jk IIZ J'II)TIfBaTE P
11. fertilizer spreader — I ' BZreTa ifIHEfI Henio
12. to till the soil — Co pioA
13. form seedbeds — - 1Hap TPYHLY .
e n. (GopmyBaTH MOJMBHI OOPO3HU

14. formirrigation furrows — o HBOKI POIPIXIIORAM
15. moldboard — ' roniBs fBa pHH
16. a layerof soil — P Il[ P .
17, manure — q. yH Bepcaanan .

. . IUIyTH BHCOKOI EMHOCTI
18. vegetation —

. S. ToYaTkoBa 00poOka
19. weather in gagents - t. BUBITPIOBaHHS KOMITOHCHTIB
20. to break clods - u BU Oé)HI/I TBO IITYYHOTO BOJIOKHA
21. knife harrow — - BHpODHAT Y
4. Complete the sentences with the proper words from the brackets and
translate them into Ukrainian.
1.The system of food and fiber production in agriculture is highly ..................... (specialized/

mechanized/qualified) .

2.Many ......ooiiiiiiin (implements/transport/ mechanisms) such as plows, cultivators and
fertilizer spreaders are usually mounted on tractors.

3. Farming operation includes plowing, harrowing, planting, tilling, harvesting, drying and
PrOCESSING «.vvnviiienieieaieeneenannens (plants/soils/crops).

4. Soil preparation for .............ccviiiiiiiiiiiin, (planting/irrigation/tilling) usually involves
plowing and harrowing.

S5.The o (plouging /disking/harrowing) of the plowed soil is

designed to break clods, level the surface and destroy weeds.
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TEXT 8
1. Read the texts Text1A Round Baler.

A baler is a piece of farm machinery used to compress a cut and raked crop (such
as hay, cotton, straw, or silage) into compact bales that are easy to handle, transport, and store.
Several different types of balers are commonly used, each producing a different type of bale —
rectangular or cylindrical, of various sizes, bound with twine, strapping, netting, or wire.

The most common type of baler in industrialized countries today is the large round baler. It
produces cylinder-shaped "round" or "rolled" bales. Grass is rolled up inside the baler using
rubberized belts, fixed rollers, or a combination of the two. When the bale reaches a predetermined
size, either netting or twine is wrapped around it to hold its shape. The back of the baler swings
open, and the bale is discharged. The bales are complete at this stage, but they may also be wrapped
in plastic sheeting by a bale wrapper, either to keep hay dry when stored outside or convert damp
grass into silage.

Text 2 A Planter.

A planter is an agricultural farm implement towed behind a tractor, used for sowing crops
through a field. It is connected to the tractor with a draw-bar, or a three-point hitch. Planters lay the
seeds down in precise manner along rows. Seeds are distributed through devices called row
units. The row units are spaced evenly along the planter. Planters vary greatly in size, from 1 row to
48, with the biggest in the world being the 48-row John Deere DB120. The space between the row
units also vary greatly. The most common row spacing in the United States today is 30 inches.

On smaller and older planters, a marker extends out to the side half the width of the planter
and creates a line in the field where the tractor should be centered for the next pass. The marker is
usually a single disc harrow disc on a rod on each side of the planter. On larger and more modern
planters, GPS navigation and auto-steer systems for the tractor are often used, eliminating the need
for the marker. Some precision farming equipment such as Case IH AFS uses GPS/RKS and
computer controlled planter to sow seeds to precise position accurate within 2 cm. In irregular
shaped field, the precision farming equipment will automatically hold the seed release over area
already sewn when the tractor has to run overlapping pattern to avoid obstacles such as trees.

Older planters commonly have a seed bin for each row and a fertilizer bin for two or more
rows. In each seed bin plates are installed with a certain number of teeth and tooth spacing
according to the type of seed to be sown and the rate at which the seeds are to be sown. The tooth
size (actually the size of the space between the teeth) is just big enough to allow one seed in at a
time but not big enough for two. Modern planters often have a large bin for seeds that are
distributed to each row.

Vocabulary: baler (a bale) — TiokoBsi3anpHUK (TIOK), planter- ciBaika

2. Put “planter” or “baler” and complete the sentences. Translate them into

Ukrainian.
A1 is a piece of farm machinery used to compress a cut and raked crop into compact
bales.
A2 is an agricultural farm implement , used for sowing crops through a field.
03 vary greatly in size.
"l Different types of 4 produce the different type of bales.
1 Older S commonly have a seed bin for each row and a fertilizer bin for two or more rows.
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TEXT 9

1. Read the text

Tractors

Power is supplied. Power can be supplied. Power can be supplied in various forms. The
tractor can pull machines. The tractor can push machines. It can drive machines by means of a belt.
It can drive machines by means of a belt from a belt pulley. The tractor supplies power to machines
from the power-takeoff shaft.

The power is measured. It is measured by kilowatts or horse powers. Tractors are classified
according to the power. Tractors are classified according to the power produced.

Crawlers are used for heavy operations. Crawlers or track laying tractors must be used for heavy
operations. Large crawlers must be used for heavy operations. Crawlers have tracks. Tracks have a
grip. Tracks have the grip on the ground. Tracks increase the grip of the tractor on the ground. The
crawlers are able to push or pull heavy loads and machines.

The tractors may have tires. The tires can be placed farther apart. The tires can be placed
closer or farther apart according to the distance between the rows. We are able to place tires closer
or farther apart according to the distance between the rows that must be cultivated. Wheeled tractors
may have implements and machines on them. Implements are mounted on the tractor. This is done
by the three-point linkage.

There are tractors with diesel or gasoline engines. The diesel engine will use less fuel than the
gasoline engine for the same work done. The fuel should be clean. The oil must be changed
regularly. It is necessary to change the oil regularly. It is necessary to change the oil regularly
because it provides tractor' s useful work.

2. Define the parts of speech of the following words.

various, gaseous, famous, numerous

3. Compare the words with Ukrainian ones.

machine, kilowatt, gasoline, cultivation, system, battery, filter, motor, radiator.

4. Fill in the gaps with proper words and word-combinations
1. The tractor can supply power to the machines from the .........(power-take-off shaft, belt pulley,
three-point linkage).

2. The tyres can be placed closer or farther apart............ (according to, by means of) distance
between the rows.

3. The crawlers are usually ............. (small, large, various).

4. The tractor can .................. (increase, pull, do) machines.

5. The crawlers are able to ................. (produce, push, drive) heavy loads.

6. Implements are mounted on the tractor by means of ..(a belt pulley, tyres, a three-point linkage).

7. The fuel should be ..................... (heavy, clean) and have no water.
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TEXT 10
1. Read and translate the text

PLOUGHS

There are various forms of the plough. The plough is an implement used for soil cultivation.
It has become the implement used for soil preparation. The plough has been used for many
centuries. It has been used for preparation of seedbeds.

A plough is an implement with one or more mould-boards. Mould boards cut the soil. Mould
boards cut and turn the soil. They cut soil slices. They cut furrow slices. Both mounted and
semi-mounted types of ploughs are being produced. A semi-mounted plough is not lifted off the
ground. The number of mould boards is not the same on different ploughs. It depends on the type of
soil and the tractor size.

There are three types of ploughs, conventional plough being one of them. Some trailed
models of conventional ploughs are in common use. Most reversible ploughs are mounted, but some
of the larger models are semi-mounted.

Disc ploughs have large rotating discs. The plough may have a disc coulter. The plough has
a body. It also has legs. The plough body is attached to legs. Legs are bolted to the frame. The base
of a plough body is called the frog. The share cuts the bottom of the furrow slice.

There are many types of mould boards, each producing its special surface.

There are three main types of a plough. The main types of plough body are general-purpose
type and digger type. The digger type is used for deep ploughing. It is used in soil preparation for
root crops. Digger bodies have a higher power requirement than the general-purpose type.

The plough has been used in its different forms for many centuries. It has become the main
implement used for the preparation of seedbeds.

A plough is an implement with one or more mould-boards which cut and turn the soil.
Modern ploughs are commonly fully mounted on the tractor hydraulic system.

Some are semi-mounted with the front supported by the tractor hydraulic linkage and the
rear by one or more wheels.

2. Define the suffixes:

adjustable, movable, usable, comfortable, replaceable, measurable, attachable; reversible,
possible, flexible, visible, compressible.

3. Combine the words by the suitable principle:

implement, hydraulic, conventional, rarely, rotate, digger, classify, ignition, commonly, organize,
crawler, reversible, generate, gravity, electrify, lubricator, suitable, arrangement, full.

4. Translate the words. Define the role of the suffix —ly:

full — fully; main — mainly; mechanical — mechanically; proper —properly; common —
commonly; rare — rarely; close — closely; chemical — chemically.
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5. Complete the table. Define the role of the prefixes ir-, in-, im-, il-. Translate
the words.

flexible possible movable visible legal measurable rational

ir in im il

6. Compare the words with Ukrainian ones.

Generator -

Generate -

Systematic -

Classify -

Gravity -

Typical -

Transformer -

Hydraulically -

Organizer -

Mechanize -

7. Translate the sentences using the different forms of the verb to have:

1. A modern plough has up to six mould boards.

2. When the piston has reached the bottom of its stroke the inlet valve closes.

3. Both conventional and reversible ploughs have been produced by our plant.

4. The driver has to attach the plough correctly.

5. The pneumatic tyres have become so efficient and so popular that they are the standard part of
all wheeled tractors.

6. Modern tractors usually have a four-stroke engine.

7. We have to set all mould boards at the same angle.
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8. Write down 10 verbs from the text and make Past Indefinite and Past
Participle forms.

For example: repair- repaired- repaired

TEXT 11

1. Read the text. Match the number of paragraphs (1 — 5) with the proper

headmgs. (A - E).

The fuel system of the diesel engine

The best condition to run

The starting system

Operation of diesel engine

The reason of inefficient running of diesel engine.

S AN >R

1. The diesel engine is known to be almost the same as the petrol but because of higher pressures
it contains stronger parts. The method of operation of the diesel differs from that of other
engine. Instead of fuel - air engines air mixture employed in other engines air only is taken to
the cylinder. The air inside the cylinder is compressed and its temperature is rises. It results in
the ignition of the fuel charge injected into it. Thus the fuel is ignited in the diesel engine.

2. The diesel fuel system operates under two pressure levels. The low pressure part of the system
contains the fuel tank, fuel pumps and fuel filters. The high pressure parts of the system
contain the injection pump, the high pressure lines leading to the injection nozzles.

3. We know some diesels to employ auxiliary gasoline engines for starting. These engines are
used to crank the diesel until it starts. Most farm tractor diesels use electric starting motors
similar to those used on gasoline engine tractors. They are operated from the battery on the
tractor.

4. In diesel engines the fuel injection system is found to be the most usual cause of trouble. A
smoky exhaust in a diesel engine is believed to be the sign of unsatisfactory work. If the
engine runs for long time in this condition, the piston valves and injection nozzle become
coated with carbon and this is sure to cause inefficient running and may lead to more serious
trouble.

5. Diesel engines are supposed to run best when the temperature of the cooling water reaches 75
—85°C.

2. Find in the text the English equivalents of the word — combinations to the
Ukrainian given below.

1.Meton kepyBaHHS 1U3€IbHUM ABUTYHOM; 2. Buii Trcku; 3. [ToBiTps B cepenuHi nMiIiHapa;

4. 3anamoBaHHS TAJIUBHOTO 3apsay; 5. [lanuBHa cucTema au3enbHOTO nBUryHa; 6. [TanuBHMIT Oak;
7. anusui nomny; 8. [TanusHi ¢insTpu; 9. Imxexropra nommna; 10. [HxekTopHi PopcyHKH;

11. ben3unosi nBurynu; 12. JIBUryHu enexkTpuuHoro 3amycky; 13. Buxmnon aumy; 14. Kiananu
wwtinapa; 15. Heegextusuuit npoOir; 16. Temneparypa 0XonomKy04oi BOAH.
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3. Answer the questions:

1. What’s the diesel engine?

2. Which is the method of operation of the diesel engine?

4. How does the fuel diesel system operate?

5. What is used for starting in most diesel engines?

6. What is the sing of the unsatisfactory work of the diesel engine?
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TEXT 12

1. Read the text.
Application and Variations of Tractors

A variety of specialty farm tractors have been developed for particular uses. These include
"row crop" tractors with adjustable tread width to allow the tractor to pass down rows of corn,
tomatoes or other crops without crushing the plants, "wheatland" or "standard" tractors with fixed
wheels and a lower center of gravity for plowing and other heavy field work for broadcast crops,
and "high crop" tractors with adjustable tread and increased ground clearance, often used in the
cultivation of cotton and other high-growing row crop plant operations, and "utility tractors",
typically smaller tractors with a low center of gravity and short turning radius, used for general
purposes around the farmstead. Many utility tractors are used for nonfarm grading, landscape
maintenance and excavation purposes, particularly with loaders, backhoe heavy fields, pallet forks
and similar devices. Small garden orlawn tractors are designed for suburban and semirural
gardening and landscape maintenance also exist in a variety of configurations.

Some farm-type tractors are found elsewhere more often than on farms: with large universities'

gardening departments, in public parks. These are often fitted with grass (turf) tires which are less
damaging to soft surfaces than agricultural tires.
Space technology has been incorporated into agriculture in the form of GPS devices, and robust
on-board computers installed as optional features on farm tractors. These technologies are used in
modern, precision  farming techniques. = The spin-offs from the space race have actually
facilitated automation in plowing and the use of auto steer systems (drone on tractors that are
manned but only steered at the end of a row), the idea being to neither overlap and use more fuel
nor leave streaks when performing jobs such as cultivating. Several tractor companies have also
been working on producing a driverless tractor.

The durability and engine power of tractors made them very suitable for engineering tasks.
Tractors can be fitted with engineering tools such as dozer blades, buckets, hoes, rippers, etc. The
most common attachments for the front of a tractor are dozer blades or buckets. When attached to
engineering tools, the tractor is called an engineering vehicle.

2. Find the Ukrainian equivalents

1. Adjustable tread width a.pajiyc moBOpoTy

2. increased ground clearance b. 301IbIICHUI TOPOXKHIN TTPOCBIT

3. turning radius C. peryiaboBaHa NIMPUHA MPOTEKTOPA
4. backhoes d. ekckaBaTop

5. pallet forks €. KEPMOBI CHCTEMH

6. auto - steer systems f. Bu1a 1 miioHiB

3. Match the words from the right column with the words from the left
column.

1. To pull - a. a cargo car

2. To tow - b. a rototiller

3. Todisc - c. stubble (cTepus)
4. To plant — d. the fruit trees

5. To plow — e. a heavy field
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4. Match the words with their definitions.

1. A tractor plows a field using ... a. a rototiller

2. A tractor pulls... b. a pump

3. A farm tractor used to power ...for irrigating a plot of land c. a chisel plow.
4. A garden tractor tows ... d. a cargo cart
5.A tractor with ... for grain. e. a chaser bin
6.A ... tractor performs various earth works. f. backhoe-loader

5. Look at the images and name the farm implements.

i

6. Look at the figure and say which constructive parts a tractor has.

exhaust stack —
steering weal -

1
2
3. fender —
4. driving wpeel — exhaust stack
5. tread bar - .
6. headlight - ||
7. counterweight -
8. engine compartment - headiight | PAURUEEEE T o]
9. rim -
10. Step - eounterweight
a O6i)1 ; driving wheel
b. BuxyomHa TpyoOa )
c. mepenni papu front wheel
d. xepmo
€. TIPUBIJIHE KOJIECO
f. mportekTop
g. CcXimns
h. xpuno
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1. JBUTYHHHH BiJICIK

J. nporuBara

TEXT 13

1. Read the text and match 1 —to 12 with A to L.
SELECTING TRACTORS

1. Tractor power is used extensively on farms. The types of tractor usually employed for work in
agriculture include from the row — crop to general — purpose tractors standard wheel types, utility
tractors and tracklayers.

2. A tractor should be selected after considering the advantages and disadvantages of different
types. Original cost, adaptability, soil conditions, work to be done and economy are factors to
consider in selecting a tractor.

3. Efficiency of the tractor selected also depends on operating, maintaining and adjusting it by an
operator. Row crop type is especially designed for cultivating row crops. Row crop tractors are
known to have been used since 1924.

4. Because of great number of row crops, different width between rows, low — or high - growing
plants row — crop tractors must be adaptable to various field conditions and do many field
operations. These tractors are usually called general — purpose tractors. Using three types of front -
wheel equipment increases efficiency of row — crop tractors.

5. The distance between the centers of the rear wheels is also adjustable in row — crop models. Thus
the tractor can be adapted to low — or high - growing plants and to various row widths; wheels will
run between rows and cause a minimum of plant damage.

6. There are some other features common to row — crop models. By applying high vertical
clearance (called cultivating clearance) a tractor operator can work in high — growing crops. Row —
crop models are provided with the differential brakes. When one break is used it retards or stops one
wheel and other wheel causes the tractor to make a short turn. Cultivating often requires short turns
at the row ends.

7. Equipment for row — crop models usually includes belt pulley drawbar, power — take — off and
hydraulic system. Engine power of tractors may be from about 20 hp to more than 100hp. The row
— crop tractor is more often used than any other type.

8. Standard wheel type is the oldest type. It is not designed for cultivating row crops, but is most
useful for supplying power to trailed implements.

Four - wheel standard tractors with engine of 200 hp or more operate large implements or

combinations of implements. In some models the front wheels are driven by hydraulic power.
9. Utility tractors may be with either fixed or adjustable tread. With adjustable tread they can be
used for a wide variety of row crops. These tractors have less vertical clearance than the row - crop
models and so they have more stability. Utility tractors are widely used for open field work —
plowing and haying operations. Commonly used models have engines from 35 to 65 hp.
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10. Tracklayers for agriculture have a lot of uses. Diesel engines are popular in tracklayers.
Tracklayers are widely employed for field work requiring heavy loads. They are good on soft, wet,
swampy ground. Preparing ground for irrigation and maintaining irrigation systems are tasks for
which these tractors are designed.

11. Almost any tractors can be used in orchards. But tractors specially designed for this work are

BRbmman s < ==

12. Lawn and garden tractors are small wheel type tractors. They are widely used in parks and
gardens. Farmers think them useful for farm operations that require special accuracy — thinning and
weeding, for example.

A. Belt pulley drawbar, power — take — off and hydraulic system is the equipment of the row — crop
tractor.

B. Four - wheel tractors are most useful for supplying power to trailed implements.

C. These tractors have less vertical clearance and can be used for a wide variety of row crops.
D. They are good on soft, wet, swampy ground.

E. These tractors are widely used in parks and gardens.

F. These tractors are good for orchards.

G. All types of tractors are widely used on farms.

H. There are main factors which are considering in selecting a tractor.

I. Efficiency is one of the characteristics of the tractor power.

J. General purpose tractors do many field operations.

K. Row — crop tractors adapted to low — or high — growing plants and to various row width.
L Row — crop tractor has the differential brakes.

2. Write out the sentences with Passive Voice from the text above.

For example: Tractor power is used extensively on farms.

3.Answer the questions:

Where the different types of tractors are employed?
Which advantages and disadvantages should be considered in selecting tractors?
What determines the efficiency of the tractor?

Which tractors are usually called general — purpose tractors?

A e

Can the row crop tractor be adaptable to various field conditions and many field operations?
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Which is the equipment of the row crop tractors?
Which type of a tractor is the oldest?

Which may be the utility tractor?

A S B

Which is the main application of the utility tractor?

TEXT 14

1. Read the text and translate it into Ukrainian.

Heat is being produced in the combustion chamber of the engine as the fuel is being burned.
Some of this heat goes into useful power, some is lost through the exhaust gases, and some must be
removed by cooling system of the engine. The cooling system removes about one — third of the heat
produced. The heat passes through the cylinder walls into the coolant or into the air. The engine
temperature must be controlled.

An engine equipped with a liquid — cooling system has a water jacket around the cylinder walls
and the cylinder head of the engine. The water jacket is connected to the radiator by passages. The
engine is cooled by coolant circulating from the water jacket through the radiator from top to
bottom and back through the water jacket from bottom to top. The air flowing past the radiator takes
heat from the coolant. The fan keeps a constant flow of air past the radiator and helps in the cooling
process.

Two types of liquid — cooling systems: the thermosyphon system and the forced — circulation
system are used on farm tractors. The thermosyphon system is a system in which the circulation of
coolant is caused by difference in temperature between the coolant in the water jacket and that
circulating in the other parts of the cooling system.

The forced — circulated system has all the parts that are in the thermosyphon system but it also
has a water pump and a thermostat. The water pump is used for continuous circulation of the
coolant. The thermostat controls the flow of the coolant through the cooling system and regulates
the temperature.

The radiator has tubes through which the coolant is circulating. The fan behind the radiator
removes heat from coolant.

Small stationary engines are air — cooled. Air — cooling system forces air past the hottest of the
engine block. The air is forced through the system by a fan. It is necessary to keep the inlet to the
fan clean because a reduced air flow will cause the engine overheating.

2. Find the English equivalents from the text to given Ukrainian below.

1.xkamepa 3ropaHHs; 7. UHPKYIAIIA OXOI0TAYBaya;

2. BUXJIOIHI Ta3W; 8. mocTiiiHHii MOTIK NOBITPA;

3. UWJIIHAPUYHI CTIHKH; Y. IpoLec OXON0IKEHHA,

4. TeMrieparypa ABUTYHA; 10. BOASIHA TIOMTIA;

5. BOITHUM JKaKeT, 11. ManeHEKI CTALIOHAPHI JIBHTIYHH;
6. IJTIHAPUYHA TOJIOBKA JIBUTYHA; 12. neperpisanis ABHryHa.

3. Answer the questions.
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What is the main aim of the cooling system of the engine?

What are the main elements of the liquid cooling system?

What are there two types of liquid cooling system in the engine?

What are the main parts of the forced - circulated cooling system?
system?

4. Match the English and Ukrainian equivalents

1. Hose - a. mpyoxu

2. Drain petcock — b. mepmocughonna cucmema

3. The forced — circulated system — C. NOBIMPAHA CUCMEMA OXONOONHCEHHS
4. Useful power — d. oxonoooicysau

5. The coolant — €. KOpUCHA NOMYIHCHICMb

6. A liquid —cooling system — f. senmunsimop

7. Fan— g. 0X0100%1cY8ay

8. Thermosyphon system — h. cnycknuii Kpan

Complete the sentences using the words in the brackets. Translate them
into Ukrainian.

An engine equipped with a liquid — cooling system has a water jacket around the cylinder
.......... (valve, walls, rings) and the cylinder head of the engine.

The thermosyphon system is a system in which the circulation of ..................... (coolant,
fuel, oil) is caused by difference in temperature between the coolant in the water jacket and
that circulating in the other parts of the ..c.covvnnennennn.n. (ignition, fuel, cooling) system.
The forced — circulated system has all the parts that are in the thermosyphon system but it

also has @ .oeevveviiniiniiiiiiniiniennns (oil, water, high pressure) pump and a thermostat.

Put the sentences into correct order.

® The radiator is circulating has which the coolant tubes through
28



® The circulation of the coolant water pump is used for continuous

e Two types the thermosyphon system of liquid — cooling systems: and they are used on
farm forced — circulation system tractors.

® The removes about — third of the cooling system heat produce done.

TEXT 15

1. Read the text and translate it into Ukrainian. Match the headings with the

proper paragraphs.

| S| W N -

A. A cultivator in the small-scale gardening

B. A way of attachment of a cultivator on the tractor

C. Some sense of cultivator

D. The goal of the cultivating

E. A cultivator looks like a chisel plow.

1.

Cultivator

A cultivator is any of several types of farm implement used for secondary tillage. One sense
of the name refers to frames with teeth (also called shanks) that pierce the soil as they are
dragged through it linearly. Another sense refers to machines that use rotary motion of disks
or teeth to accomplish a similar result. The rotary tiller is a principal example.

Cultivators stir and pulverize the soil, either before planting (to aerate the soil and prepare a
smooth, loose seedbed) or after the crop has begun growing (to kill weeds—controlled
disturbance of the topsoil close to the crop plants kills the surrounding weeds by uprooting
them, burying their leaves to disrupt their photosynthesis, or a combination of both). Unlike
a harrow, which disturbs the entire surface of the soil, cultivators are designed to disturb the
soil in careful patterns, sparing the crop plants but disrupting the weeds.

Cultivators of the toothed type are often similar in form to chisel plows, but their goals are
different. Cultivator teeth work near the surface, usually for weed control, whereas chisel
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plow shanks work deep beneath the surface, breaking up hardpan. Consequently, cultivating
also takes much less power per shank than does chisel plowing.

Small toothed cultivators pushed or pulled by a single person are used as garden tools for
small-scale gardening, such as for the household's own use or for small market gardens.
Similarly sized rotary tillers combine the functions of harrow and cultivator into one
multipurpose machine.

Cultivators are usually either self-propelled or drawn as an attachment behind either

a two-wheel tractor or four-wheel tractor. For two-wheel tractors they are usually rigidly
fixed and powered via couplings to the tractors' transmission. For four-wheel tractors they
are usually attached by means of a three-point hitch and driven by a power

take-off (PTO). Drawbar hookup is also still commonly used

worldwide. Draft-animal power is sometimes still used today, being somewhat common in
developing nations although rare in more industrialized economies.

1. A cultivator is a type of farm implement used for secondary tillage.
2.A cultivator has a frame with teeth (also called shanks) that pierce the soil as they are dragged
through it linearly.

3. Cultivators stir and pulverize the soil, either before planting or after the crop has begun growing.
4. Cultivator teeth work near the surface, usually for weed control, whereas chisel plow shanks
work deep beneath the surface, breaking up hardpan.

5. Cultivators are usually either self-propelled or drawn as an attachment behind either a two-wheel
tractor or four-wheel tractor.

[SST \STE

3. Answer the questions

. Which a type of farming implement is used for secondary tillage?
. Which is a main constructive part of a cultivator?
. Which is the main aim of usage of a cultivator?

4. Find the English equivalents to the given Ukrainian ones.

S IR o

00epTOBUH pyX JUCKIB-

MoiOHUI pe3ybTaT-

30araTUTy TPYHT MOBITPSIM-
nepepBaru iX HOTOCHUHTE3-
npiOHE caJiBHUIITBO-

MaJleHbKi 3y04acTi KyJIbTHBATOPH-
TSTOBE 34CTUICHHS-

CaMOXI1IHUHI-

5.Match the words 1-10 with a-j.

L TIOBREPXHEHD
30

POTOPHHI KYIBETHBATOP

MPOKOTHIOTE TRYHT
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Secondary tillage —

ISR

Pierce the soil —

Rotary tiller —

& o

Chisel plows —
Weed control —
Beneath the surface —

Pulverize the soil —

5 @ oo

The topsoil —

[

Crop plants —

The snrronndine weeds —

TEXT 16

1. Read the text and translate it into Ukrainian.

Harrows

A disc harrow is a farm implement that is used to cultivate the soil where crops are to be
planted. It is also used to chop up unwanted weeds or crop remainders. It consists of
many iron or steel discs which have slight concavity and are arranged into two or four sections.
When viewed from above, the four sections would appear to form an "X" which has been flattened
to be wider than it is tall. The discs are also offset so that they are not parallel with the overall
direction of the implement. This is so they slice the ground they cut over a little bit to optimize the
result. The concavity of the discs as well as their being offset causes them to loosen and pick up the
soil they cut. Modern disc harrows are tractor-driven and are raised hydraulically. Some large ones
even have side sections which rise up vertically to allow easier road transport or better storage
configurations.

Disc harrows are primarily used to chop up soil that has been recently plowed to eliminate
clumps and loosen the soil if it has been packed. They are also used to chop up old crops, such as
cornstalks, to make the land easier to plow and to eliminate clogging in the plowing process.

The disc is a secondary implement primarily used to break down soil clods into smaller units. By so
doing it allows easier penetration of water into the soil, increases soil aeration and enhances the
activity of soil biota.

2. Match the words 1-10 with a-j.

1) to chop up unwanted weeds or crop remainders a. 3pyOyBaru HebOaxaHi Oyp’sHU 4n
3aJTUIIKHA YPOXKAMHUX KYJIBTYP

2) penetration b. nerka BrHyTIiCTb

3) flattened C. CILUTIOIICHUH

4) loosen the soil d. 3cyB
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5) overall direction of the implement €. 3araJbHUI HAIIPSIMOK 3HAPSI A

6) eliminate clumps f. ycyHyTH rpyaku
7) offset g. PO3MYLIUTH TPYHT
8) cornstalks h. cTebna Kykypya3u
9) clogging 1. 3aCMIYCHHS

10) slight concavity J. TIPOHUKHEHHS

3. Answer the questions:

1. Which implement is named a disc harrow?
2. For which purpose a disc harrow is used?
3. What are the main design features of a disc harrow?

TEXT 17

1. Read the text and translate it into Ukrainian.
Forage Harvester

A self-propelled John Deere 5730 Forage Harvester.

A forage harvester (also known as a silage harvester, forager or chopper) is a farm implement that
harvests forage plants to make silage. Silage is grass, corn or other plant that has been chopped into
small pieces, and compacted together in a storage silo, silage bunker, or in silage bags. The silage is
then fermented to provide feed for livestock. Haulage is a similar process to silage but using grass
which has dried.

Forage harvesters can be implements attached to a tractor, or they can be self-propelled
units. In either configuration, they have either a drum (cutter head) or a flywheel with a number of
knives fixed to it that chops and blows the silage out a chute of the harvester into a wagon that is
either connected to the harvester or to another vehicle driving alongside. Larger machines also have
paddle accelerators to increase material speed and improve unloading characteristics. Once a wagon
is filled up, the wagon can be detached and taken back to a silo for unloading, and another wagon
can be attached. Because corn and grass require different types of cutting equipment, there are
different heads for each type of silage, and these heads can be connected and disconnected from the
harvester. Maize and whole crop silage are cut directly by the header, using reciprocating knives,
disc mowers or large saw-like blades. Kernel processors (KP), modules consisting of two mill rolls
with teeth pressed together by powerful springs, are frequently used when harvesting cereal crops
like corn and sorghum to crack the kernels of these plant heads. Kernel processors are installed
between the cutter head and accelerator. In most forage harvesters, the KP can be quickly removed
and replaced with a grass chute for chopping non-cereal crops.

Today's largest machines have engines producing up to 1,100 horsepower (820 kW), are
fitted with headers able to cut up to a 35-foot (11 m) swath of corn in a single pass, and an output
exceeding 400 tons of silage per hour (Krone).

Silage made from grass, canola, oats or wheat are chopped in pieces 5 to 76 millimeters
(depending on knife, cutter head, and length of cut transmission configuration) and treated with
additives including bacteria, enzymes, mold inhibitors, and preservatives to accelerate the
fermentation process. When silage is made of corn or sorghum additives are not necessary because
of the high sugar and starch levels in the plants. Additives however are frequently added to corn and
sorghum to augment their fermentation.
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Vocabulary: forage harvester — kopmosdoupanvruii komobatin, silage harvester — cunocnuii Komoaiin

2. Complete the sentences using given words in the brackets. Translate the

sentences into Ukrainian.
1. A forage harvester is a farm implement that harvests forage plants to make ... (silage/haylage).
2. Silage is grass, corn or other... (animal/plant) that has been chopped into small pieces, and
compacted together in the silage bunker.
3. Forage harvesters can be implements attached to ... (a tractor/a combine), or they can be
self-propelled units.
4. Corn and grass require different types of ... (chopping/cutting) equipment.

When silage is made of corn or sorghum ... (inhibitors /additives) are not necessary because of
- - 'E_?F_-;

1. Read the text and translate it into Ukrainian.
Combine Harvester

The combine harvester, or simply combine, is a machine that harvests grain crops. The name
derives from its combining three separate operations comprising harvesting—reaping, threshing,
and winnowing—into a single process. Among the crops harvested with a combine
are wheat, oats, rye, barley, corn (maize), soybeans and flax (linseed). The waste straw left behind
on the field is the remaining dried stems and leaves of the crop with limited nutrients which is either
chopped and spread on the field or baled for feed and bedding for livestock.

Combine harvesters are one of the most economically important labor saving inventions, enabling a
small fraction of the population to be engaged in agriculture.

Cutting unit. This unit cuts the standing grain and delivers it to the feeding mechanism.
Main parts of this unit are reel, the dividers, the cutter bar and the auger. The reel is the first part to
touch the standing grain. It can be adjusted up and down and also forward and backward.

Dividers separate the standing grain and define the swath to be cut.
The cutter bar and knife are similar to those on a mover.

Feeding unit. This unit — if properly adjusted — carries away the cut grain from the cutter
bar and feeds it into the cylinder.

Threshing unit. From 80 to 90 per cent of the grain separation takes place between the
cylinder and the concaves. The stationery concave bars and open grates are located below the
cylinder Various types are used, but they all do the same work. Together with the cylinder, the
concaves cause the grain to pass between the rapidly revolving cylinder and stationary surface.
Grain falling through the grates is then collected on the grain pan and fed onto the sieves for
cleaning.

Separating unit. Most of the threshed grain is separated from the straw at the concaves and
at the finger grate at the rear of the cylinder. The grain falls through openings in the bottom of the
rack to the grain pan or to the grain conveyor.

Clearing unit. This unit removes the chaff and fine residue from the threshed grain. It
cleans grain by means of the combined action of sieves and air blast.

Grain handling unit. This unit conveys the clean threshed grain auger, clean grain elevator,
and grain tank.

Vocabulary: Grain handling unit - eueanmasicysanvruti npucmpiil 0ns 30upanns
OUUWEeHO20 3epHA reaping— JdcHuéa, threshing unit— moromapxa, winnowing— xonauus, the chaff
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and fine residue — conoma i MinKi 8i0xo0u, grain auger — WHeKOBUL HABAHMANCYBAY 3epHda, grates—
peuimru

2. Answer the questions.
1. What is a combine harvester?
2. Which principle units of a combine do you know?
3. Which is a function of a cutting unit?
4. What does the feeding unit do?
5. Which is the function of the threshing unit?

3. Find and write.

1. Reel - korymika 11) to padjustablesieve — BEpXHE PEryIbLOBAHE
2. cutter bar — pizak 12) bottom sieve — HM)KHE CUTO
3. header auger — Benyunii HeK 13) tailings conveyor — XBOCTOBUI KOHBEED
4. erain conveyor (feeding) —3epHOKOHBEED 14) rethreshing of tailings - 0OMOJIOT XBOCTIB
5. stone trap —KaMeHEYJIOBIIOBaY 15) grain auger — 3epHOBHI IITHEK
6. threshing drum—monoruabauil 6apadan 16) grain tank — 3epHOBHII OYHKED
7. concave - migdapabaHHs, TEKO 17) strawchopper- noapiOHIOBa4 COIIOMH
8. straw walker - cooMOTpsiC 18) driver'scab — kabiHa koMOaiHepa
9. grain pan — 3¢pHOBHH MiIJI0H 19) engine — IBUT'YH
10. fan - BeHTHISATOD 20) unloading auger — po3BaHTaKyBaJIbHUIA
HIHEK
21) impeller- po6oue xoneco

4. Match the names of units with their definitions.
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1. Cutting unit — a. removes the chaff and fine residue from the threshed grain.

2. Clearing unit — b. separates the threshed grain from the straw.

3. Separating unit — c. has the stationery concave bars and open grates.

4. Grain handling unit —  d. carries away the cut grain from the cutter bar.

5. Threshing unit — e. cuts the standing grain and delivers it to the feeding mechanism.

TEXT 19

1. Read the text “Wheat” and translate it into Ukrainian.

Wheat-growing was extensively practiced throughout Europe in prehistoric, times and this
cereal was of great importance in the ancient civilizations of Persia, Greece and Egypt. It spread to
all the temperate countries where it now plays a major part in the food supply of many nations and
it is also widely cultivated in tropical and subtropical areas.

Cultivation. It is often said that winter wheat does best on a well-formed seed-bed. Plugging
should be done as early c as possible and the normal depth would-be in the region of 6 inches. The
type of seed-bed required for winter wheat can be described as one with a reasonable tilt in the top
2-3 inches, with a surface containing a high proportion of clods, the largest of these being about the
size of a man' s hand. This is to prevent capping, a condition which can easily arise with heavy rain,
when the soil surface runs together forming a crust.

Managing. With all crops it is essential to ensure that adequate supplies of phosphate and
potash are available during the first few weeks of growth. Once observed it is not possible to correct
properly any deficiency and both of these major elements are required either in advance of drilling
or they may be combine-drilled with the seed. Combine drilling g is the most economical way of
applying these fertilizers, but with winter wheat time of sowing being of prime importance, the fast
method of application using fertilizer spinners is more often preferred. For average conditions 30
units (one unit is equal to 1.12 Ib. and is the same as 1% on analysis) each of phosphate and potash
will be sufficient. If the soil is rich in nitrogen, then 30 units/acre of fertilizer nitrogen would
suffice, but under average conditions levels up to 60 units are considered economic rising to 80
units in the low rainfall areas. Previous cropping, local environment and to some extent cultural
techniques can also influence the optimum level of this nutrient. When the soil is likely to supply
some nitrogen for early growth of a winter crop, then it is unlikely that any autumn fertilizer
nitrogen would be required. The short, stiff-strewed varieties of wheat can stand high levels of
fertilizer nitrogen whereas the taller ones used to produce quality straw will only tolerate moderate
amounts. Of all the cereals winter wheat will give the highest response to his fertilizer and to obtain
the best return the proper dressing should be applied at the correct time. As far as spring wheat is
concerned up to 60 units of nitrogen can be economic. It should be applied prior to drilling or
combine drilled with the seed. Seeding Rates. The amount of seed required for autumn wheat will
vary between 1 and 2.5 cwt/acre. Early sowings need the least since the temperatures for
germination are higher than those later on and a larger number of the seeds produce plants. As one
goes north the autumn temperatures become significantly lower and hence to obtain the optimum
number of plants it is necessary to sow larger quantities of seed

Harvest. Winter wheat is normally harvested from August to October (in Britain),
depending on the type of summer experienced and also the geographical location. Spring wheat
matures much later than winter wheat and later than the other cereals.
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Following a hot, dry summer grain may be combine-harvested under very good conditions;
and if the moisture does not exceed 14% then it can be stored without drying. Moisture tests can be
carried out at harvest and these are often used to indicate the stage of ripeness or readiness for
combining.

Most of the wheat being cut by combine harvester, there is still a small, but significant
acreage, which is hindered to satisfy the demand for long straw. It is said to be binder-ripe when the
grain is fairly firm, has a cheesy texture and does not exude any milky fluid when pressed. This
stage is usually reached between 1 and 2 weeks before it can be combine-harvested. The actual

2. Find synonyms of the following words and wordcombinations in the text:

widely local conditions

area ,
to withstand

to grow best N
to use (fertilizers)

important

as to
to see
rightly to differ
enough stand
fertilization yield
to be hlgh in to ripen
before to show

3. Define to which parts of speech belong the next words and translate them
without dictionary:

)extent, extensive, extensively, to extend;

2) to supply, the supply, supplying, supplied, supplier;

3) content, to contain, containing, container;

4) to form, the form, forming, formed, formation, formless;
5) deficient, deficiency;

6) dry, dryly, to dry out, dryer, dryness.

4. Fill in the gaps with necessary words from the text:

¢ The time and method of......... the land for wheat depends principally on the ........ that is
followed by it.
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% Unless the rainfall is high it is desirable to have the land prepared .......... of seeding to permit
settling of the ...........and accumulation of............ .

% When the land is to be plowed after a small grain there should be a month

....................... plowing and seeding.

TEXT 20

1. Read the text “Maize’” and translate it into Ukrainian.

Maize

Types of Maize. Several thousand varieties of maize are now grown throughout the world
and most of these can be allocated to one of the seven most important groups: dent maize, flint
maize, sweet corn, soft maize, popcorn, waxy maize, pod maize.

Soil Requirements. Successful, maize cultivation is more frequently and more easily
achieved on soils, which are of medium texture. As the soils become lighter the greater is the
chance of their—drying outl in midsummer and although there is really nothing else against
them, the very light sandy soils should be avoided. Having suggested light to medium textured
soils for maize, it must also be stressed that organic status and fertility should be high. The
maize land should be free draining in order that as much of the heat as possible is employed in
raising soil temperatures and not removing excess of soil moisture. The soil should be naturally
free draining to enable a full rooting system to develop in a plentiful supply of oxygen.
Maximum yields are believed to be obtained between pH 4 and 9. Some scientists believe maize
to be successfully cultivated on the moderately acid soils (pH 6—7 as optimal). Others say that
maize growing can be successful under alkaline conditions provided there are no serious
deficiencies of the micro-nutrients.

Application of Fertilizers. It has been suggested that phosphate and potash should be
applied to the land well in advance of drilling and the nitrogen incorporated into the seedbed
just prior to drilling, otherwise much of it would be lost by leaching. One should remember that
germination is much retarded by fertilizers in contact with the seed.

Cultivation. With a more extensive and deeper rooting system than the other cereals, maize
will require deeper plugging, cultivations and seedbeds to obtain maximum growth. Autumn
plugging is advisable on stronger soils and it may be left until the early spring when textures are
light. Cultivations which follow should be to a depth of 4-5 inches. They kill the weeds after
germination: inter row cultivation can follow crop emergence to obtain further weed control.
Chemical means are often preferred. Seed-beds should be uniform and fine to obtain a quick
germination and to assist the action of herbicides in their control of weeds.

Seeding. Minimum temperatures for growth of maize are around 50° F (10° C) and thus
early spring sowings are of little value except when the soils are warmer than usual. Under cool
conditions seeds rot. When the average t° is over 50° F the emergence of maize will take
approximately two weeks. Late spring frosts can also be damaging to seedling maize, although
with the cold tolerant varieties being introduced, there is every chance that this crop may now
survive the first few degrees of frost.

Sunshine and Solar Energy. Little is said and written about sunshine and solar energy
requirements with this cereal. It is, however, assumed that for satisfactory growth and ripening
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of the crop high levels of bright sunshine are required. Maize is quite unique in its mode of
growth and extent and duration of its leaves. They grow in a manner which facilitates efficient
use of radiant energy by trapping most of the sun' s rays and since the duration of full leaf
extends almost to grain maturity, the sun' s energy can be transferred to grain yield throughout
the whole life of the plant. A point close to optimum leaf area is obtained early and maintained
almost to grain maturity thus making maize one of the most efficient utilizes and converters of
solar energy into plant energy particularly when the whole plant is considered as the economic
yield.

2. Fill in the gaps with necessary words from the text

1. When there is not enough potassium in the soil, we say the soil is ...... in potassium.
20 is the process which removes excess of soil moisture.

3. Best yields of maize are achieved on soils of medium ....... and high .......

4. Nitrogen fertilizer should be....... into the soil, otherwise much of it will be lost by ....... .
5. Cultivations and ........ help to control........ .

6. The average temperature for the .......... of maize is over fifty degrees F.

3. Which statement don’t correspond to the text make necessary changes

. It' s advisable that nitrogen be applied long before plowing.
. They recommend that maize land should be free draining.

. It' s necessary that the students know different varieties.

. It is not desirable that maize be planted in warm soil.

. Chemical means are seldom used in weed control.

AN nh B~ W=

. To obtain quick germination the seed-bed must be fine.
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4. Build the comparative and superlative forms of adjectives.

adjectives

comparative superlative

light

fine

high

extensive

deep

dry

popular

easy

cheap

APPENDIX

TEST 1
Variant 1

1. Match the English and Ukrainian word — combinations.

Reciprocating move -
The starting system -
Cylinder head -
Engine operation -
Camshaft -

Cooling system -
Combustion chamber -
Storage battery -

. Intake valves -

10. Burned gases -

11. Rotary motions -

A S S o

12. Expanding gases -

a) Tasu, UI0 PO3LIMPIOIOTHCS
b) 3BOPOTHO — MOCTYNAIBHUHN pyX
¢) obepTraibHi pyxu

d) kamepa 3ropaHHs

€) MUIIHAPUIHA TOJIOBKA

f) akymynaropna Garapes
J) KepyBaHHS JIBUTYHOM

h) ByckHi kianaHu

1) BiANIpaIboBaHi ra3u

J) pO3MIOLTBIMIA BaJ

k) cucrema oxonmomkeHHS
1) myckoBa cucrema

2. Put the missing words. Use the words from the box given below.
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a. strokes; b. movement; c. piston; d. bottom; e. end; f. operates.

Engine 1 on cycles. There are four strokes of the 2 in one cycle of engine operation.
There two outward 3 toward the crankshaft and two inward strokes away from the
crankshaft. When the piston is at the 4 of the stroke away from the crankshaft (inward
stroke) this is a top dead center (TDC). When the piston is at the end of the out — ward —
stroke (toward the crankshaft) this is 5 dead center (BDC). The piston 6 _ from TDC to

BDC is an engine stroke.

3. Translate the given sentences into Ukrainian.

Internal combustion is the process of burning of fuel within the engine.
The cylinders and the cylinder heads form the combustion chambers.
Pistons, rings, valves, connection rods are reciprocation engine parts.
The electrical system of the engines has a storage battery or a magneto.

The air inside the cylinder is compressed and its temperature is rises.

S ;R W=

The diesel fuel system operates under two pressure levels.

Variant 2
1. Match the English and Ukrainian word — combinations.
1. crankcase — a. HepyXxoMa 4acTHHA JIBUTYHA
2. high efficiency — b. CBIYKM 3amaatoBaHHS
3. lubrication oil - C. BUCOKa €()eKTUBHICTb
4. crankshaft - d. imkekTopHa momra
5. spark plugs - €. TIOPIITHEBI KUTBIIS
6. piston rings - f. macTuso
7. connection road - g. MacisHUuN QUIBTP
8. fuel combustion process -  h. kaprep
9. intake valves - 1. KOMIHYACTH Bal
10. oil filter - g. HaTyH
11. injection pump - k. BITyCKHI KJ1armaHu
12. stationary engine part - 1. mporiec 3ropaHHs NaTBHOTO

2. Put the missing words. Use the words from the box given below.
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a. combustion; b. tractor; c. engine; d. lubricating; e. crankcase; f. cylinder. |

The stationary 1 parts are the cylinder block, the crankcase and the cylinder head. The 2 block
is one of the basic parts of the engine. The process of 3 takes place within the cylinders. 4
engines have some cylinders .The 5 is a part of the cylinder. It supports the crankshaft and the
camshaft and keeps the 6 oil near the engine parts. The cylinder heads close the cylinders. The

cylinders and the cylinder heads form the combustion chambers.

3. Translate the given sentences into Ukrainian.

The fuel burns within the engine and provides forces.

The cylinder block is one of the basic parts of the engine.

Piston rings control and absorb heart from the piston.

The engine valves are of two types: intake valves and exhaust valves.

The low pressure part of the system contains the fuel tank, fuel pumps and fuel filters.

A o e

Most farm tractor diesels use electric starting from the battery on the tractor.

TEST 2

Variant 1

1. Match the words and word — combinations with their translations.

1. a crawler - a. KOMyHaJIbHUI TPAKTOP
2. vehicle b. TpakTop At KOCIHHS Ta30HIB
3. plowing - C. TyCEHHUYHUH TPAKTOP
4. disking - d. 6ynpozep

5. steering - €. MpoTHBara

6. a utility tractor - f. TpancnopTHUit 3aci0

7. drawbar - g. OpaHHs

8. driving wheel - h. quckyBaHHA

9. threadbar - 1. py/lbOBE yHpaBIiHHS
10. counter weight - J. IPUYIMTHUN MeXaHi3M
11. a lawn tractor- k. mpuBingHe KOIECO

12. backhoe loader - 1. TIpotekTop

2. Put the missing words and complete the given text.
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a. shifting; b. adjusting; c. clutch; d. clearance; e. engine; f. periodically; g. disk.

Aclutchisal mechanism operation in a tractor basis. A 2 permits the gradual application of
power from the engine to the load. It permits disengagement of the 3 _ from the drive mechanism
for starting, for 4 of gears and for idling.

Clutch should be checked 4, since the pedal linkage wears with use and may need adjustment.
A tractor operator must know the method of 5 the linkage. Lack of 6 of the clutch pedal may
reduce power and cause overheating.

3. Translate the sentences into Ukrainian.

1. A tractor is an engineering vehicle specifically designed to deliver a high tractive effort at slow
speeds, for the purposes of hauling, a trailer or machinery used in agriculture or construction.

2. A farm tractor has a drawbar for pulling tillage tools and power — take - off shaft for driving
implements or operating a belt pulley.

3. Tractor can be generally classified as two — wheel drive. Two — wheel drive with front wheel
assist. Four —wheel drive, or track tractors (with other two or four powered rubber tracks)

4. Answer the questions:

1. Which tractors are usually called general — purpose tractors?
2. What must a tractor operator do to operate and maintain a tractor well?
3. Must the tractor operator do the examination of steering mgchanism?

Variant 2
1. Match the words and word — combinations with their translations.
1. linkage - a. caJloBUl TPaKkTOp
2. tillage - b. 3uemieHHs
3. towing - C. KEpMO
4. planting - d. oOpoOka rpyHTy
5. irrigation - €. IBUTYHHUU BiJICIK
6. clutch - f. OykcupyBaHHs
7. rear wheel - g. BUXJIONHA TpyOa
8. power — take — off shaft - h. 3pomryBanHs
9. exhaust stack - 1. BaJI B110OPY MOTY>KHOCTI
10. engine compartment - J. 3’€THAHHSA
11. steering wheel - k. 3agHe Koneco
12. garden tractor - l. caninns

2. Put the missing words and complete the given text.

a. Repairs; b. unspecialized; c. installing; d. to operate; e. replacing; f. maintained.
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A tractor must be well 1 __and operated so that the need for repair is reduced to a minimum. 2
are expansive and there may be difficulties in getting the necessary parts and 3 them.
A tractor operator should be able 4, adjust and maintain his tractor. He should have knowledge
and skill necessary for doing 5 tractor repair. The more specialized repair such as reboring
cylinders, 6 worn parts is to be done by a qualified mechanic.

3. Translate the sentences into Ukrainian.

1. The tractor can pull or push machines; it can supply power to machines from the power — take —
off shaft and it can drive machines by means of a belt pulley.

2. The classic drawbar is simply a steel bar attached to the tractor to which the hitch of the
implements was attached with a pin or by a loop and clevis.

3. large type of modern farm tractors include articulated four — wheel or eight — wheel drive units

with one or two power units which are hinged in the middle and steered by hydraulic clutches or
pumps.

4. Answer the questions:

1. Which is the main application of the utility tractor?
2. For which details the periodically checkmg and adJustlng are needed9

he tractor nneratar hac ta inene

TEST 3

Variant 1
1. Match the English and Ukrainian equivalents.

1. idling - a. NaJMBHUM 3aps]

2. engine wear - b. KyJ1aukoBi MIAIIUITHUKA
3. ahose - C. MOBITPsIHA CUCTEMA OXOJIOJPKEHHS
4. drain petcock - d. nmerke HaBaHTaXEHHS

5. gear — type pump — €. XOJIOCTUH XiJ

6. a thermostat - f. Mydra 3uernieHHs

7. a working surface - g. IIJIaHr

8. clutch - h. criycknuit kpan

9. air — cooling system — 1. 3ybuacTta momna

10. light — load - J. TEpMOCTAaT

11. camshaft bearings - k. po6oua noBepxHs

12. fuel charge - |. 3HOLTYBaHHS IBUTYHA

2. Put the missing words into the gaps and complete the text.
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a. rations; b. combustion; c. carburetor; d. intake; e. pump; f. gasoline.

The 1 engine fuel system must supply the engine with a mixture of air and fuel that burns within
the cylinders. Gasoline engines use a 2 mixing the fuel and air and delivering the mixture to the
engine through the 3  manifold. Air — fuel 4  vary for idling, light — load and heavy — load
operations. Diesel engines have a high — pressure 5  forcing the fuel through injector into the 6

__chamber.

3. Translate the sentences into Ukrainian.

1. A lubrication system is a necessary in order to deliver the oil to the moving parts of the
engine.

2. Oil filters are located between the oil pump and engine parts to reduce engine wear.

3. Heart is being produced in the combustion chamber of the engine as the fuel is being
burned.

4. Two types of liquid — cooling systems: the termosyphone system and the forced —
circulated system are used on farm tractors.

5. Some diesels use an additional gasoline engine for starting.

Variant 2

1. Match the English and Ukrainian equivalents.

1. afloat- a. MAaCTHJIbHUM (LIBTP
2. an intake manifold - b. KOpiHHI MiIIUITHAKHA
3. afan- C. TOTIIAaBOK

4. spark - d. BonsiHUMI JKaKeT

5. useful power - €.Ba)KKE HaBaHTAXKEHHS
6. a water pump - f. BmyckHuii narpy0ox
7. aworking surface g. KOpHCHA MOTY>KHICTh
8. a water jacket - h. BeHTHIIATOD

9. the forced — circulated system - 1. pobo4a moBepxHs

10. heavy — load - J. ickpa

11. connection road bearings - k. BomsiHa momma

12. oil filter - 1. cucTema mpUMyCOBOTO OXOJIOMKEHHS
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2. Put the missing words into the gaps and complete the text.

a. system; b. temperature; c. heat; d. walls; e. chamber; f. useful.

Heat is being produced in the combustion 1 _ of the engine as the fuel is being burned. Some of
this heat goes into 2 power, some is lost through the exhaust gases, and some must be removed
by cooling 3 of the engine. The cooling system removes about one — third of the 4  produced.
The heat passes through the cylinder 5  into the coolant or into the air. The 6  must be
controlled.

3. Translate the sentences into Ukrainian.

1. Engine lubrication is provided by an oil pump located in the oil pan.

2. Spark ignition engine uses an electric ignition system providing of the fuel charge.

3. The cooling system removes about one — third of the heat produced.

4. The forced — circulated system has all parts that are in the thermosyphon system but it also has a
water pump and thermostat.

5. The radiator has tubes through which the coolant is circulating.

TEST 4
Variant 1
1. Match the images with their names.

a. aplanter;  b. a combine harvester;  c. cultivator; d. a disc harrow

2. Put the missing words into the gaps and complete the text. Use the words
from the box.
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a. process; b. grass; c. feed; d. pieces; e. silage; f. implement.

A forage harvester (also known as a silage harvester, forager or chopper) is 1 __ that

harvests forage plants to make silage. Silage is 2, corn or other plant that has been chopped into
small 3, and compacted together in a storage silo, silage bunker, or in 4 _ bags. The silage is
then fermented to provide 5 _ for livestock. Haulage is a similar 6 __ to silage but using grass
which has dried.

3. Translate the sentences into Ukrainian.

1. The system of food and fiber production in agriculture is highly mechanized.

2.A plough is an implement with one or more mold - boards which cut and turn the soil.

3. Cultivators stir and pulverize the soil either before planting (to aerate the soil and prepare a
smooth, loose seedbed) or after the crop has begun growing.

4. A disc harrow is a farm implement that is used to cultivate the soil where crops are to be planted.
5. A forage harvester (also known as a silage harvester, forager or chopper) is a farm implement that
harvests forage plants to make silage.

6. A baler is a piece of farm machine

Variant 2
1. Match the images with their names.

1. . . .
a. adisc harrow; b. a forage harvester; c. a cultivator; d. a baler

2. Put the missing words into the gaps and complete the text. Use the words
from the box.

a. remainders; b. offset; c. wider; d. discs; e. sections; f. harrow

Adisc 1 isa farm implement that is used to cultivate the soil where crops are to be planted. It
is also used to chop up unwanted weeds or crop 2. . It consists of many iron or steel 3. which
have slight concavity and are arranged into two or four sections. When viewed from above, the

four 4.  would appear to form an "X" which
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3. Translate the sentences into Ukrainian.

1. Some multi - purpose machines are used where a high degree of precision is needed for precision

tillage, planting, bed shaping and fertilizing.
2.Modern ploughs are commonly fully mounted on the tractor hydraulic system.

3. Unlike a harrow, which disturbs the entire surface of the soil, cultivators are designed to disturb

the soil in careful patterns, sparing the crop plants but disrupting the weeds.
4. Modern disc harrows are tractor-driven and are raised hydraulically.

5. Forage harvesters can be implements attached to a tractor, or they can be self-propelled units.

6. A planter is an agricultural farm implement towed behind a tractor, used for sowing crops

through a field.

TEST “Check yourself”

1. Define a "superfluous' word that does not fit in the content of a group of words.

1. a) agriculture; b) cultivation; c) field; d) book;

2. a) farm; b) plant; ¢) student; d) animal;

3. a) crop; b) plant; c) grass; d) development;
4. a) animal; b) livestock; c) cattle; d) grain;

5. a) beef cattle; b) meat; c) sheep; d) poultry;

6. a) meat; b) milk; ¢) plant; d) egg;

7. a) water; b) sunlight; c¢) wheat; d) air;

8. a) plant; b) root; c) flower; d) stem;

9. a) rice; b) barley; c) potatoes; d) wheat;

10. a) agriculture;  b) crop production; ¢) industry; d) animal husbandry.

I1. Define the word closest to the value of the given one.
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1. land -

a) pasture; b) farm; ¢) ground; d) agriculture;

2. agriculture —

a) cultivation; b) life; ¢) crop production; d) yield;

3. cereals —

a) legumes; b) tuber crops; c) grain; d) yield;
4. grow —

a) go; b) raise; c¢) harvest; d) plant;

5. cost —

a) price; b) profit; ¢) income; d) value;

6. remuneration —

a) money; b) salary; c) bill; d) cost;

7. want —

a) demand; b) wish; ¢) need; d) income;

8. labour —

a) work; b) laboratory; c) problem; d) profit;
9. grain —

a) cereals; b) legumes; c) wheat; d) potatoes;
10. livestock —

a) poultry; b) cattle; c¢) fish; d) sheep.

oy iy,

I11. Find the word opposite to the value of the given one.

1. to plant -

a) to grow; b) to raise; c) to use; d) to harvest;

2. income —

a) profit; b) expenses; c) output; d) cost;

3. disease —

a) control; b) health; c) quality; d) insect;

4. private —

a) state; b) own; ¢) central; d) marketable;

5. warm —

a) cold; b) cool; c) hot; d) worm;

6. to improve —

a) to spoil; b) to spend; c) to approve; d) to cultivate;
7. to increase —

a) to grow; b) to decrease; c) to plan; d) to improve;
8. a producer —

a) customer; b) consumer; ¢) worker; d) manager.

IV, Identify the correct translation from English into Ukrainian.

1. to grow -
a) poctu; b) 36uparu; ) itu; d) BUUTH;
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2. to use —

a) mocradaTy; b) 3abe3neuyBaTH; ¢) BAKOPUCTOBYBaTH; d) 3aCTOCOBYBATH;
3. apply -

a) 3abe3neuyBary; b) 3acTocoByBaTH; ¢) mocradary; d) 301IbITyBaTH;
4. dairy cattle —

a) MoJouHa Xyno0a; b) mruiis; ¢) M’ scHa xyno6a;d) BiBIIi;

5. cost —

a) BUTpara;b) noxiza; c) Bapricth;d) 1iHa;

6. profit —

a) 1iHa; b) BapTicTh; ¢) oruiara;d) npudyToK;

7. mechanization —

a) inTeHcudikaris;b) mexanizamis; ¢) enexrpudikaris;d) XiMizawis;
8. income —

a) mpudyToK; b) mpuxin; ¢) noxim; d) 30yT;

9. quality —

a) SIKICTh; b) KUTBKICTh; ¢) moxix; d) eeKTUBHICTS;
10. costs —

a) noxia; b) Bapricte; ¢) BuTparTH;d) HiHa.

V. Choose the right variant.

1. 51 Oyny npaumoBaTtu Ha pepmi.

a) I work on a farm.

b) I'll work on a farm.

¢) I was working on a farm.
d) I'm working on a farm.

2.V cinbcbKOMY rocnogapcTBi € ABi rajaysi.

a) Are two branches in agriculture.

b) Two branches are in agriculture.

¢) There is two branches in agriculture.
d) There are two branches in agriculture.

3. ExoHOMiKa CilIbCHKOT0 IOCNOAAPCTBA PO3IJISAA€ EKOHOMIYHI MPo0JeMu.

a) Agricultural economics deal with the economic problems of agriculture.

b) Agricultural economics deals with the economic problems of agriculture.

¢) Agricultural economics dealing with the economic problems of agriculture.

d) Agricultural economics are dealing with the economic problems of agriculture.
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4. 30ip Bpoxkalo — giHaJBbHA JAHKA Y CUILCHKOTOCIOAAPCbKOMY BUPOOHHMITBI.

a) Harvesting is the final stage in agricultural production.

b) Harvesting is the primary stage in agricultural production.
c) Harvesting isn 't the primary stage in agricultural production.
d) Harvesting is the final stage in industry.

5. € 6araro BuiB Bpo:kaiiHO-30MpPaJIbLHUX MALIMH.

a) There is many kinds of harvesting machinery.
b) There are many kinds of harvesting machinery.
¢) There many kinds of harvesting machinery.

d) There are kinds of harvesting machinery.

VI. Choose the right answers.

1. Why is agriculture important?

a) It is an important branch of economics.

b) It supplies people with food.

c) It supplies people with food and clothing and industry with raw materials.
d) It supplies industry with raw materials.

2. What are the two branches of agriculture?

a) industry and economics;

b) crop production and animal husbandry;
¢) crop production and environment;

d) cattle breeding and crop production.

3. What does crop production mean?

a) It is the practice of growing crops.

b) It is the practice of harvesting crops.

c) It is the practice of growing and harvesting crops.

d) It is the practice of breeding cattle.

4. What are the main parts of a plant?
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a) foot and stem;

b) stem, leaves, flowers;

¢) root, stem, leaves, flowers;

d) root, stem, leaves, flowers, seeds.

5. What does animal husbandry include?
a) breeding of farm animals and their use;
b) breeding of farm animals;

¢) production of milk, meat and eggs;

d) feeding of animals.

6. What is agricultural economics?

a) a field of economics, dealing with crop production;
b) a field of economics, dealing with economic problems of agriculture;
o £ 1A A€ annnnnian ATl Y e e ll oo o 2
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7. What does agronomy deal with?

a) Agronomy deals with the cultivation of fields.

b) Agronomy deals with the cultivation of fields for regular production of crops: food crops, feed
crops and industrial crops.

¢) Agronomy means the preparation of the ground for planting seeds.

8. What does agricultural engineering mean?

a) Agricultural engineering means the application of engineering knowledge to agriculture.
b) Agricultural engineering means the application of engineering knowledge to industry.

c¢) Agricultural engineering means the application of mathematics knowledge to agriculture.
d) Agricultural engineering means the application of new experience to agriculture.

9. What are the conditions for the development of Ukrainian agriculture?

a) fertile soils;

b) fertile soils and warm climate;

c) fertile soils, temperately warm climate, a well-developed industry processing agricultural raw

materials.

10. What vegetables do they grow in Ukraine?
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a) cabbage and tomatoes;

b) cucumbers and red beet;

¢) onion and garlic;

d) cabbage, tomatoes, cucumbers, red beet, carrot, onion, garlic, etc.

VIL. Fill the gaps.

1. The word “ager” is a ... word.

a) Russian; b) Greek; c) Latin; d) English.

2. Life is ... without plants.

a) possible; b) impossible; ¢) important; d) difficult.

3. Agriculture ... people with food and clothing.

a) applies; b) supplies; c) includes; d) use.

4. The most important plants grown by people are grain crops, vegetables and...
a) fruit; b) trees; c) grasses; d) flowers.

5. Crop production and animal husbandry are closely ... with each other.
a) connected; b) depend; ¢) developed; d) cultivated.

6. Production cost is the main indicator of the ... of a farm.

a) effect; b) marketing; c) efficiency; d) enterprise.

7. Agriculture and ... are closely connected with each other.

a) cattle breeding; b) economics; ¢) environment; d) crop production.

8. ... are plants growing where they are not wanted.

a) seeds; b) weeds; c) wheat; d) grasses.

9. Animal husbandry includes ... of farm animals and their use.

a) breeding; b) feeding; c) selection; d) production.

10. The most important group of farm animals is ... .

a) poultry; b) sheep; ¢) fish: d) cattle.
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VIII. Choose the right variant.

1. My uncle often ... on a farm.

a) works; b) is working; c¢) work; d) worked.

2. When I entered the room, children ... .

a) read; b) reads; c) was reading; d) were reading.

3.1... him today.

a) saw; b) see; c) have seen; d) had seen.

4. She ... TV now.

a) watchers; b) is watching; c) is watched; d) was watching.
S.1... her up tomorrow.

a) rang; b) ring; ¢) have rung; d) shall ring.

6.1 ... English for two years.

a) have studied; b) have been studying; c) studied; d) was studying.
7. When my mother came I already ... my work.

a) have done; b) was doing; c¢) had done; d) did.

8. She ... in Canada since April.

a) was not; b) did not be; c) has not been; d) is not.

9. He said he ... to London next year.

a) would go; b) will go; ¢) went; d

Task 2
1 2 3 4 5 6 7 8 9 10
c a C b d b b a a b
Task 3
1 2 3 4 5 6 7 8
d b b a a a b b
Task 4
1 3 4 6 7 8 9 10
a c b a c d b c a c
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Task 5

1 2 3 4 5
b d b a b
Task 6
1 2 3 4 5 6 7 8 10
c b C d a b b a d
Task 7
1 2 3 4 5 6 7 8 10
C b b C a C C b d

VOCABULARY
A

Again (adv.) — 3HOBY

Agricultural (a) — ciTbCbKO-TOCIOAAPCHKUI
Agriculture (n)— cibChKe TOCTIOAAPCTBO

Ahead (adv.) — moniepeny

Aid (v) — nonmomaratu

Alarm (n) — curHana TpUBOTH, CUTHAJIBHUNA TPUCTPIN
Alert (n) — TpuBoOTra, Monepe )KyBaJIbHUI CUTHAI
Alfalfa (n) — mouepna

Alongside (prep) — mopsina 3

Alteration (n) — 3MmiHa, nedopmartis

Alternative (a) — 3MiHHHI

Although (cj) — xou, He3BaXkarOuu Ha
Altogether(adv.) —30Bcim, miJIKOM

Amount (n) — KUIBKICTh, BEIUYNHA

Analog(ue) (n) —6e3nepepBHa (i3ndyHa BEITMYUHA
Angle (n) — kyT

Appear (v) — 3’ IBIATHCS

Applicable (a) — (n) — moTik

Application (n) — 3acTocyBaHHSA

Apply (v) — 3acTocoByBaru

Area (n)- Tuioma, paiioH
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cross — sectionarea (n) — MJIOIIANONIEPEUHOTO Mepepizy
Arm (n) — neue, TpuMau
Arrange (V) — po3MillyBaTu
Arrangement (n) — po3MIIIICHHS
As (cj) — 5K, TaK 5K
As ... as (¢j) — TaK ... 5K
Aspect (n) — BUIISIA
Aspirator (n) — BUTSDKHHA BEHTHIISTOP
Assemble (v) — 30upatu
Assist (V) — qoromararu
Associate (V) — oB’s13yBaTu
Assume(v) — IpUIycKaTu
Assure (V) — rapaHTyBaTH
Attach (v) — nmpuennyBaTu
Attachment (n) — npueHaHHS
Auger (n) — KOHBe€p, HIHEK
Grainauger (n) — 3epHOBHIi KOHBEEP
Deliveryauger (n) — po3BaHTa)KyBaJIbHII KOHBEEP
Auxiliary (a) — qonoMi>kHUN
Available (a) — npunaTanit
Average (a) — cepenHiit

ial (2) — ocrorUiA

Back (n) — 3axniii, Ha3an

Backrest (n) — ciuaka

Backward (a) — cnpsimoBaHuU#1 Ha3aJ1, 3BOPOTHIM
Baftle (n) — npocenb, IrymHuK

Bale (n) — TroK

Band (n) — cmyra

Bank (n) — rpyma, Ha6ip, G0k muutiHIpa
Bar (n) — npyTOK, CTpH>KEHB

Barley (n) — ssuminb

Bat (n) — 6uo, Ousik

Beam(n)— 6anka. 6pyc

Bearing (n) — niamunmauk

Mainbearing (n) — KOpIHHHM MiJIIMITHUK
Bed (n) — rpsiaxa

Belt (n) — mac, peminb

Beltpulley (n) — peminHMii mIKiB
Drivebelt (n) — npuBiHUIA pEMiHb
Beneath(prep) — BHU3Y, 11, HUXKYE
Blade (n) — nomara, Hix, J1e30

Blast (n) — norik

Block (n) — By30:1, 610K

Blockage (n) — 3acmiueHHs, 3aKyOpPEHHS
Bore (V) — cBepIuTH, pO3TOUyBaTH
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Bowl (n) — momnaBkoBa kamepa

Brake (n) — ranemo, ransMyBaTH
Breakdown (n) — momomka, HeCIIpaBHICTh
Broadcast (v) — po3kunaru

Brush (v) — npouicyBaru

Bury (v) — 3akonyBaru

C.

Cab (n) - xabiHa

Cage (n) — pemityactuii 6apaban
Camshaft (n) — kynaukoBuii BaJ
Canvas (n) — cTpiuka (KOHBeepa)
Capability (n) - 31i0HICTB

Capable (a) - 3116Hui

Capacity (n) — eMHICTbh, HOMiHQJIbHA MTOTYKHICTh, TIPOyKTUBHICTh, MiCTKICTh
Carry (V) — miaTpuMyBaTH

Carryaway (V) — BIIBOAHUTH, BiTHOCHTH
Carryon (V) — MpOBOUTH, BECTH
Carryout (V) - BUKOHYBaTu

Closedcenter - 3aMKHYTHI LIGHTP
entrifinoal (a) - RiTTIEATHORAH

Chain (n) feederchain (n) — naHiror, KOpMOPO3AATUHK, JTAHIIOTOBUN KOHBEEP
Channel (n) — xanai, %0100

Cumbersome (a) — rpomMi3akuid, OOTSHKITUBUN
Consider (v) — po3risigary, BBaXKaTu

Charge (n) — 3apsn

Chart (n) — cxema, giarpama

Chassis (n) — maci, Xo/0Ba 4acTHHA

Chisel (n) — kyasTUBaTOp

Circuit (n) — yaHIror

Circulate (v) — nmupkymoBaTi

Circumstance (n) — o6cTaBrHa

Cleaner (n), — ouunrryBaud

Clearance (n) — MIJISXOBUIA MMPOCBIT

Clod (n) — Gpuna, rpyznka 3emii

Clover (n) — koHIOIITMHA

Clutch (n) — 3uinHa my¢ra

Coat (n) — MOKpHUTTA

Coil (n) — xoTymka, 0OMOTKa

Collect (v) — 30upatu

Combine (n) — kom0aiin

Combine (v) — 00’eaHyBaTn

Common (a) — 3BU4aiiHuii, IpOCTUI
Compact (v) -ion (n)- yuribHIOBAaTH, yIIUTbHCHHS
Compare (V) — mOpiBHIOBAaTH

Compatible (a) — cymicHumit
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Complete (a) — moBHUM, 3aBepIICHUI

Compose (V) — cki1agatu

Compress (V) — cTUCKaTH

Concave (n) — mijgbapabanHs

Condense (v) — 3ryutyBaTu

Confine (v) — oOMexyBarTu

Connect (v) — 3’eqHyBaTu

Conserve (v) — 30epiraru

Consider (v) — po3misigaTv, BBayKaTH

Consolidate(v) — TBepaHyTH

Consult (v) — paautuch

Consume (V) — ClIO’)KUBaTH

Convenient (a) — 3py4Huit

Conventional (a) — cTanmapTHHIA

Convert (v) — nepeTBOproBaTH

Convey (V) — TpaHCIOPTYBaTH,

Conveyer (n) — KOHBE€Ep

Cross — drilled (a)- mepexpecHo - mpocBepATICHUI

Cope (V) — cripaBnaTucs

Corn (n) — 3epHO, 3010KS, KyKypya3a

Corrosion (n) - Kopo3is
onlter (n) — wisx Invra

Coupling (n) — my¢Ta, 3UeTIeHHs

Cover (v) — 3aroprartu

Crank (v) — 3aBoauTH (MpOKpy4yBaTHUBA JBUTYHA)
Crankcase (n) — kaptep

Crankshaft (n) — konmiHuacTuii Ban

Crawler (n) — ryceHU4HHU# TPaKTOP
Companion crop — cynpoBifHa KyJIbTypa

Laid crop — Bunsitiia KyneTypa

Root crops — kopeneronu

Cultivate (v) — 00poOIsATH 3eMITI0,BUPOILLYBATH
Rotary cultivator — porariiiina ¢ppesa

Curve (n) — xpuBa (J1iHis)

Cushioning (n) — amopTH3anis

Cutter (n) — pizenp, ppesa, moapiOHIOBAY
Cumbersome (a) — rpomMi3IKuit

Curve (n)- kpuBa

Cushioning (n) — amopTu3airis

Cutter (n) — pizensp, ¢pe3a

D.

Decelerator (n) — crioBiIbHIOBaY IpoIECy
Decrease (v) — 3MeHIITyBaTH

Define (v) — Bu3Hauaru

Definitely (adv) - scao
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Deflect (v) - Bigxunstu

Demand (n) — BuMora, motpeda, CHpOBHHA
Denote (n) - mo3HauuT

Density (n) - minbpHICTh

Depth (n) - mubuna

Detach (v) - BimokpemroBaTa

Determine (v) - BU3Ha4atu

Detonation (n) - BuOyx

Digger (n) — Bigpi3HsaTH (C51)

Dirt (n) - 6pyn

Discharge (n) — po3psia, po3BaHTaKeHHS
Disengage (V) — BUMUKAaTH, P03’ € JHYBaTH
Disengagement (n) — po3’eqHaHHS

Dispersal (n) — po3BitoBaHHS, PO3KHTyBaHHS
Displacement (n) — nepecranoBka, 06’ em
Distinguish (v) - po3pi3usaTu

Distribution (n) - po3noain

Disturb (v) — mopyuryBaru, 30MBaTH (HaIaIKy)
Divert (v) — BigBoauTH

Downward (adv) — BHU3, JOHU3Y

Draft(draught) (n) — Tsra, 3uenneHHs
qin(n) - OCVIITVRATU

Draw (drew, drawn) - TarTH
Drawing — BTSTyBaTH, BCMOKTYBAaTu
Drawbar(n) — 3uinHuii npucTpiii, TAroBuit opyc

wide — swingdrawbar — MassTHUKOBUN 34ITHUH I1-i.

Drill — ciBanka, psgoBa ciBaika

cross — drilled (a)- mepexpecHo - mpocBepIICHMIA
Drop (v) - 3MeHuryBatu

Drum (n) - 6apaban

Dry (a) - cyxwuit

Dual (a) - monBiiiauii

Durability (n) — MIIHICTb, TPUBAIICTh

Dust (n) - nun

Dynamic (a) - akTuBHHIA

E

Ease (v) - monermnryBatu

Eccentric (n) - ekCleHTpHK

Edible (a) - ictuBHuit

Employ (v) — 3actocoByBatu

Enable (v) — naBatu 3mory
Efficiency (n) — edekTHBHICTD, K.K.1I
Efficient (a) -edexkTuBHUI

Effort (n) - 3ycmms

Elevator (n) - eneBatop
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Eliminate (v) — ycyBaTH, J1iKBiOBYBaTH
Engage (v) — 3uimuisTa, 3’ €JHYBaTH
Enhance (v) — mocumtoBaru
Enormous (a) — Benuue3nuit
Ensure (v) — 3a0e3neuyBaTu
Envelope (v) — obropraru

Equip (v) — obnannaru, nocradatu
Estimate (v) — omiHroBaru

Ether (n) — edip

Excess (n) — Haamuiok

Expose (v) — mianaBatu (4OMycCh)
External (a) — 30BHImHI

F.

Farming (n) — ciibChbKe TOCIIOAAPCTBO

Powerfaming (n) — MmexaHi30BaHe CLIbCHKETOCTIONAPCTBO
Fatigue (n) — BTOMa

Fault (n) — HecipaBHiCTbh, TOTOMKA

Faulty (a) — HecipaBHMiA

Favorable (a) — cnpustiuBuii
eed (VY — monmaraTu

To apply fertilizer — BHOCUTH TOOpUBa
Foodandfiber — mpoaykuist ¢/r rocnogapcTBa
Filler (n) — HaBaHTa)XyBaJbHUNA TPUCTPIN
Fin (n) — panmiatopHa miacTuHa

Fit (v) — TouHo BinmoBigaru

Fix (v) — 3akpimntoBaru

Flight (n) — BuTOK, CKpeboOK eneBaropa
Augerflight (n) — BuTOK 1mIHEKa

Float (n) — noruiaBok

Fluid (a) —pinkuii

Flush (n) — ctpyminb

Forage (n) — xopm, dypax

Forced (a) — mpumycoBuit

Force out (v) — BumroBxyBaru

Forge (v) — xyBatn

Freshly (adv) — cBixkwii, HOBHiA

Frog (n) — ctoiika, 6ammax (myra)
Furnish (v) — mocravaru, qoctaBisiTi
Furrow (n) — 6opo3na

G.

Gain (v) — oTpuMyBaTH

Gasket (n) — npokaaka

Gauge (n) — BUMIpIOBaJIbHUN TIpUIIa]]
Reversegear (n) — mectepHs 3BOPOTHOTO XOAY
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Gearbox (n) — kopoOka nepeaad

Governer (n) — perynsarop

Gradual (a) — moctynoBwuii

Grain (n) — 3epHO,XJTI0HI 371aKA

Grass (n) — TpaBa, MaCOBHILE

Grate (n) — pernriTka, rPOXoOT

Fingergrate (n) — rpe6iH4acTa KOJJOCHUKOBA PElIiTKa
Grip (n) — 3YeIUICHHS, 3aXBaT

Guide (v) — kepyBatu

H.

Handle (v) — oOxoqutHcs
Handling (n) — kepyBaHHs, TpaHCTIOPTYBaHHS
Harrow (n) - 6opona
Powerharrow (n) — cuiioBa 60poHa
spike — toothharrow (n) — npy>xuHHa 60poHa
Harvester (n) - kom0aiin
Forage harvester (n) — kopmMo30upanbHuii kKOMOaiH
Hay (n) - cino
Headland (n) — xpaii mons

ater (n) — HArNiRAY _0QiThiRAY

Hitch (n) — 3auemn, 3axBar, HaBiCHU# PUCTPIi
Hoe (n) - moTuka

Hilly (a) — ropOuctuii

Hook (n) - xprox

Horticulture(n) - caniBHHIITBO

Housing (n) — xopmyc, yoxon

Humus (n) - rymyc

I

Idling (n) — xonocTwii Xiz, podoTa Ha XOIOCTOMY X0y
Ignite (v) — 3anamoBaru, 3aiimarucs
Ignition (n) — 3anantoBaHHs, crianax
Impeller (n) — po6oye Koneco, KpuiibuaTKa
Inclination (n) — Haxw1, yKic, craj

Incline (v) — HaxumATHCS

Indicate (v) — mo3Ha4yaru, moka3yBaTh
Indication (n) — o3HaKa, MOKa3aHHS

Inhibit (v) — mepemkomkaru, 3aTpUMyBaTu
Initial (a) — moyaTKoBHA, BUX1THUNA

Inject (v) — BmopckyBatu

Injector (n) — iHxeKTOp, PopcyHKa

Inlet (n) — Byck, myckoBuii OTBip

Inner (a) — BHYTpimIHIHA

Intake (n) — BIyck

Integrate (n) — 00’ enHyBaTH
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Intend (v) — MaTu Hamip, 30uparucs

Intercooler (n) — mpoOMi>XKHUI OXOTOMKYBaU

Intricate (a) — cknaguuit

Invert (v) — mepeBepratu

Involve (v) — BkitoyaTu, OXOIITIOBATH, MICTUTH B COO1
Inward (a) — BHyTpimHi#, CIpIMOBaHUN B CEpeUHY
Irrelevant (a) — HemOpeuHuUH, 10 HE CTOCYETHCS CIIPaBU

J.

Joint (n) — 3’eIHaHHSA, CTHK, III0B
Journal (n) — manda, mmiika Bayia

K.

Knob (n) — kHOMKa, pydka

L.

Laborious (a) —TpynomicTkuit

Landside (n) — monboBa gomika (miyra)
n (h) — rarou

Lever (n) — puuar

Life (n) — cTpok ciry>x0H, TOBroBi4HICTb

Lift (v) — migHimMaTu

Link (n) — nanka, 3B'130K, 3B’ 3yBaTH

Linkage (n) —3ueruieHHs, BaXXITbHII MeXaHI3M, BaXiJIbHA Iepegaya
Three — pointlinkage (n) — Tpu TOUKOBHI1 HaBICHUIA TPUCTPIN
Liquefy (V)— nepetrBoproBatil y pikuii cran

Livestock (n) — nomains xygo6a

Lock (n) — 3amoxk, cTomop

Longitudinal (a) — no3noBxHiii

Loosen (v) — mocnalnsaty, po3’€IHyBaTH, PO3PUXIIOBATU TPYHT

M.

Maintain (v) — 30epiratu, niaTpuMyBaTu
Maintenance (n) — 30epe>XKeHHsI, TOTIISIT, eKCILTyaTaIlist
Makeup (V) — ckazaTu, KOMILICKTYBaTu
Manifold (n) — marpy6oxk, TpyOomnpoBia
Maneuverability (n) — MaHEeBpEHICTh
Manure (n) — THii, 100pHUBO

Mean (n) — 3aci0, crocid

Mechanism (n) — MexaHi3M

Feeding mechanism (n) — koHBeep
Meter (n) — TIYUIBHUK

Might (n) — minp, cuia

Moisten (n) — 3mouyBaTH (C5)
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Moisture (n) — BOJIOTiCTh, CUPICTh
Monoxide (n) — okcux

Muddy (a) — OpyaHuii, MyTUCTUH

Muftler (n) - mrynrHEK

Multi — cylinder (n) — GaratouuniHApoBUit

N.

Narrow (a) — By3bkuit

Newly (adv.) — HETaBHO, HAHOBO

Nozzle (n) — HAKOHEYHHUK, COILIO, (popcyHKa
Nutrient (n) — MOXXUBHA PEYOBHHA

0.

Objective (n) — meTa

Obstruct (v) — nepenkompKaTu

Obtain (V) — oTpuMyBaTu

Obvious (a) — O4eBUAHUMN, IBHUN
Odorless(a) — 6e3 3amaxy

Oil (n) — macTuno, HadTa, 3MaLTyBaTH
Onening (n) — 0TRIN

Outer (a) — 30BHIMIHIH

Output (n) — MOTYXHICTb

Overheat (n) — meperpis, neperpiBarucs
Overload (n) — mepeBaHTaXeHHS
Owingto (prep) — BHACIIOK, 3aBISKA

P.

Paddle (n) —momacts, 3aTBOp

Pan (n) — migoH, JIOTOK, KOPUTO

Grainpan (n) — TpaHCIIOPTHA JIOIITKA

Oilpan (n) — MacasTHUHN TII0H

Panel (n) — manenpb, MUT ynpaBiIiHAS

Park (v) — craBuTH Ha CTOSIHKY

Particular (a) — ocobnuBuit

Pass (n) — mpoxiz, mporyck

Passage (n) — mpoxiz, kaHa

Path (n) — msax

Spiralpath (n) — cipanbHa (TBUHTOBA) TPAEKTOPIsS
Penetrate (v) — mpoHukaru, 3armu0IrOBaTH

Perforate (v) — mpoOGuBartu, mpocBepIIOBaTH
Perform (v) — BukoHyBaTH, 31HCHIOBATH, BUPOOJIATH
Performance (n) — TexHi4HA XapaKTepPUCTUKA, EKCIUTyaTalliifHi SKOCTI
Permit (n) — mo3BoMsATH, AOMMyCKATH

Pest (n) — mWKiTHUK, Tapa3uT

Petrol (n) — 6eH3uH, KEpOCUH
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Petroleum (n) — Hadyra, rac

Pick (v) — 36uparu, minbuparu

Pickup (v) — ninbupau cina

Pilot (v) — kepyBaru, BecTu

Pin (n) — maneup

Pistonpin (n) — mopurHeBwii manens
Pipe (n) — Tpy6a, TpyOomnpoBix

Piston (n) — mopmienHs

Planter (n) —canunbHUK

Plough (v) — mnyr, oparu

Ploughing (n) — opanka

Plug (n) — cBiuka

Sparkplug (n) — cBiuka 3ananroBaHHs
Plunger (n) — mynxep

Point (n) — HOCOK JleMeIna, To4Ka
Precision (n) — TOYHICTh, TOYHUI
Previously (adv.) — 3a3nanerias, paHimie
Prior (a) — monepenHii

Propel (v) — npuBoauTH B pyX, pyxatu
Prove (V) — BUSBIATHUCS, MIATBEPIKYBATH

Provide (v) — 3abe3neuyBaru, mocrayatu
(v) — TaTHVTU

Belt driven pulley (n) — knuHomacoBa nepeaavya
Pulverize (v) — po3nuioBaTy, po3nyuryBaTu
Pump (v) — mommna, HarHitatu

Push (n) — mommroBx, mroBxaru

Q.

Quality (n) — siKicTh
Quantity (n) — KUIbKICTh
Quick — detach (a) —mBuIKO3HOMHNI

R.

Rack (n) — 3ybuacra peiika

straw rack (n) — comomoTpsic
Ram (n) — mitynxep

Range (n) — psan, cepis, miama3oH, KOJIMBATHCS
Rapid (a) — mBuakuit

Rare (a) — piakicamit

Rate (n) — mBUAKICTH

Rated (a) — HOMiHaTBEHUMN

React (v) — pearyBaru

Rearward (a) —3amnii

Realize (v) — 3milicHrOBaTH

Rear (a) — 3aaniii, 3aaHs1 YacTHHA
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Rebore (v) — po3rouyBaru (1iJ 4ac pEMOHTY)
Receive (v) — orpumyBatu

Reciprocation (a) — 3BOPOTHO - MOCTyNaIbHUI
Reclaim (v) — Bumpasisatu

Reclamation (n) — ocBoeHHS (3eMIIi), Meiopartis
Recognize (v) — Bu3HaBatu

Reduce (v) — 3MeHIyBaTH, 3HUKYBaTH
Reduction (n) — 3MeHIIeHHs

Reel (n)- moToBuUI0

Refer (v) — Bizcunary, ctocyBaTucs

Regard (v) — po3risgaru, BBaxkatu

Relation (n) — criBBiTHOMIEHHS

Relationship (n) — 3B's130k

Relatively (adj.) — BigHOCHO

Release (v) — 3BiIbHEHHSI, 3BUIBHSTH, BUITYCKATH
Reliable (a) — namiiinuit

Reliability (n) — HaaiiHICTh, MIITHICTH

Remain (v) — 3anumarucs

Remove (v) — ycyBatu, BifaanarTu, 3HiIMaTH
Repair (n) — peMOHT, JTaromKeHHs

Replace (v) — 3aminsaTu, 3aMimaru

R eanire (v) — RumMaratu

Residue (n) — 3anuiku, Biaxoau

Resist (V) — BUTpUMyBaTH, TPOTUCTOSITH, ONTUPATHCS
Respect (n) — BigHOIIEHHS

Restoration (n) — BiTHOBJICHHS

Restore (v) — BiqHOBITIOBaTH

Retain (v) — 36epiraru

Retard (v) —cnioBiibHIOBaTH

Return (a) — moBepHeHHsI, 3BOpOTHA T10/1a4a
Reverse (a, v) — 3BOpOTHU, peBEpCUBHMIA, 1aBaTH 3aHIH Xi1
Review (n) — omsiz

Revolution (n) — o6epranus

Revolve (v) — obepraTucs

Ride (rode, ridden) (v) — pyxarucs

Right — handed (a) — mpaBocTOpOHHI#

Rigid (a) — xopcTkuii, HepyXOMO MPUKPITUICHUH
Rim (n) — 06ix

Ring (n) — kinbie

Rise (rose, risen) — migHIMaTHCS, 3pOCTATH
Road (n) — mopora

Rod (n) — mpyT, crepxens, Opyc

Connectingrod (n) - maryx

Roll (n) — kaTok, ponuK, KOTUTUCS

Roller (n) — ponuk, kaTok

Roof (n) — max

Root (n) — kopisb

Rooty (a) —3 6e3miy4ro KopiHHSA
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Rotary (a) — obepranbHuii

Rotate (v) — obepraTucs

Rotor (n) — potop

Rough (a) — rpy0Owii, HepiBHUIA, HIepIIaBUT
Row (n) — psia, mixpanas

Rowcrop (a) — po3puxiitoBaB

Rubber (n) — ryma, kayuyk

Rugged (a) — macuBHUH, MiITHHIA

Run (ran, run) — mparroBatu

S.

Safe (a) — Hanilinuii, 6e3neyHU
Safely (adv.) — maniiino
Safety (n) — 6e3neka
Satisfactory (a) — 3a10BUTbHMIA, JOCTATHIN
Satisfy (V) — 3a10BONIbHATH, BIAMOBIIATH
Save (V) — eKOHOMUTH
Scheme (n) — cxema, mpoeKT
Scraper (n) — ckpenep
Screen (n) — expaH, pemeTo, CUTO
eal (M) — VIITITEHEHHS_TenMeT i

b e

Self — ignite (v) — camo3amantoBaTucs

Self — propelled (a) — camoxinHuit

Semi — digger (n) — mwIyT 3 NEPEILTYKHIKOM
Semi — mounted (a) — HamiBHaBICHUY

Separate (v) — cenapyBaru, BiJOKpEMITIOBaTH
Separator (n) — Mmonorapka (y koMm0OaiiHi), comoMoTpsc (MOJIOTaAPKH)
Set (set, set) — HaOip, KOMILIEKT, BCTAHOBIIOBATH
Several (pron.) — aekisibka

Shaft (n) — Ban

power - take — off — shaft (PTO) (n) — Bax Binbopy moTyXKHOCTI1
Shaker (n) — BiOpauiiHuii rypKiT

Shallow (a) — minkuii, HerMMOOKMI

Shape (n) — popma

Share (n) —nemex

Sharpen (v) — TounTH, 3aTOUyBaTH

Sharpness (n) — rocTpoTa, rOCTpOTa 3aTOYKH
Shed (n) — Hamer, maiicTepHsi, aHTap

Shell (n) — koXxyx, KOpIyc

Shoe (n) — comHuk

Sieveshoe (n) — pemriTuacTuii CTIK

Shop (n) — malicTepus

Shut (v) — BUKIIOUaTH, 3yNMUHSITH, IEPEKPUBATH
Side — hill — (n) — cxun

Side — hill plough (n) — 3BopoTHiii TuIyT

Side - wards (a) — cipssmoBaHa BOiK

Sieve (n) — cuto, pemeTo

e
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Sieve for cleaning (n) — pemeTo oYUCTKU

Sift (v) — cisti

Significant (a) — 3HauHUH, ICTOTHUI

Similar (a) —omiOHMIA

Simple (a) — mpocTuii

Simplicity (n) —mpocrora

Simplify (v) — coportyBaru

Simultaneous (a) — omHOYacHMI

Since (cj) — Tak K, OCKIJIbKH, 3 TOTO Yacy

Single (a) — equHMIA, OKpeMHUiA

Skid (n) — mono30K, onopHa Juxa

Skill (n) — HaBuuKa, MalCTEpPHICTD

Slice (n) — mact

Slight (a) — cnmabkwuii, TOHKUI

Slightly (adj.) — 3nerka, Tpoxu

Slip (v) — koB3aru, OykcyBatu

Slope (n) — cxun

Slot (n) — mpopi3, niinnHa

Slow (a) — moBuIbHUMN

Smoke (n) — mum, kinTsBa

Smoky (a) — nuMHuUH, KINTIBUI
noth (2) — TmameHkkUll_HiRHUY

Bmm e e il

Soil (n) — rpyHT

Soil — engaging parts — rpyHTO3axBaTHI YaCTUHU
Solid (n) — TBepauii, MACUBHMIA, MIITHUI
Solution (n) — pimenHs

Somewhat (adv.) — mocs, aemro

Sophisticated (a) — ycknagHeHuit

Sound (a) —miHwMiA

Spark (n) — ickpa

Specification (n) — iHCTpYKILis

Forward speed (n) — mepenHs mocTynaibHa MIBHAKICTH
Reverse speed (n) — 3aaHs1 MBHIKICTH

Spike (n) — BicTpsl, KJIMH, 3aTOCTPEHHUI CTEPKEHB
Spray (n) — cTpymiHb

Sprayer (n) — po3nuiItoBay, ONPUCKyBau

Spread (v) — po3nOBCIOKYBaTH, PO3KUIAATH
Spreader (n) — po3kumgay

Spring (n) — npy>xuHa

Sprocket (n) — nanIroroBe abo 3yd4yacTe Koieco
Stack (n) — Tpy6a

Stalk (n) - cre6no

Standpoint (n) — Touka 30py

Start up (v) — 3amyckaTu

Steady (a) — cTiiikuii, nocTiiHUH, piBHOMIpHUI
Steam (n) — mapa

Steam — powered (a) — TO¥, 1110 MPUBOAUTHLCS B PyX MAPOIO
Steel (n) — cTanb
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Forget steel (n) — mrammnoBanuii i3 crami
Steep (a) — kpyTuit

Steering (n) — pyJibOBE yHpaBIiHHSA

Step (n) — cTyminab, cTamist

Sticky (a) — munkui, B’ sI3Kkuii

Stirup (v) — migHiMaTH (TAITIOKY)

Stony (a) — kaM’ THUCTHIA

Storage (n) — 30epiraHHs, HarpOMaPKCHHS
Straight (a) — npsMuii, npaBUIBHUNA, pIBHUN
Straw (n) — conoma

Stress (n)- Hampyra

Strike (struck) — 6urtun, BrapsTucs

Stroke (n) — TaxT, XiA MOPLIHS

Power stroke (n) — po6ouwnii xizn

Stubble (n)- crepus

Subsoil (n) — miarpyHTs, po3MyIyBay ImiIrpyHTs

Subsoiler (n) — miArpyHTOBUN pO3pPUXIIIOBAB, TPYHTO3ATHOIIOBAY

Substance (n) — pedoBuHa

Suck (v) — BcMokTyBaTH
Sufficient (a) — mocrarHiii

Sugar beet (n) — nykpoBuii Oypsix

(V) — RTTATITTORVRATH _ R1TTTTOR

Suspension (n) — migBicka

Swampy (a) — 60OTsIHMIA, OOTOTUCTHIA

Swath (n) — cMyra ckoieHoi TpaBu, MPOKIC, P
Swathing (n) — psaAKyBaHHS

Sweep (n) — KynpTHBaTOpHA Jiana, BOJIOK, IpedKa

T.

Tachometer (n) — TaxomeTp

Tailing (n) — oOpi3yBaHHs KOPIHIIIB
Tailings (n) — HeoOMoOOUEHE KOJOCCs
Tank (n) — 6ak, pezepByap

Tend (V) — MaTH TeHIEHIIIIO

Tension (n) — HampyTa, poO3THKKA
Thinning (n) — npopimKyBaHHS

Thresh (n) — npocens,

Throttle (n) — npocenbHa 3aciIOHKa
Thrust (n) — Hamip, HOIITOBX
Sidethrust (n) — 6okOBHUIA THCK

Tight (n) — yminsHeHUH, repMETUIHUN
Till (v) — 0O6pobnsaTu

Tillage (n) — 06pobiTOK rpyHTY

Tiller (n) — rpyHTOOOpOOHE 3HApSI A, TPyHTOBadpe3a
Tilt (v) — nepexunatucs

Tool (n) — iHCTpyMEHT
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Torque (n) — MoMeHT 0OepTaHHA

Trail (v) — TarayT™H

Trailer (n) — mpuyin

Transverse (a)— IEPEHOCUTH, TTEPEMIIIATH
Trap (V) — BIOBIIIOBAaTH, 3aXOIUIIOBATH
Trash (n) — cMITTS, POCTMHHI 3aJTHIITKA
Tread (n) — mmpuHa X0y, KOs
Tricycle (a) — TpukomicHui

Truck (n) — aBTOMOO1TH

Turbocharged (n) — 3 TypboHamyBOM
Turnover (n) — nepexkuIaHHS

Tyre (n) — mmHa, NOKpUIIKa

U.

Undergo (v) — BunpoOyBaru

Unit (n) — oaAuHUI, arperar, IepeHoCUTH

Cleaning unit (n) — oYuCHUIA TPUCTPIK

Cutting unit (n) — pi3agbHUI arperar, *arka

Feeding unit (n) — TpancriopTHHI 3aci0

grain—handling unit (n) — BUBaHTa)KyBaJIbHUI MPUCTPIN 1J1s1 300py OUUIIIEHOTO 3€pHA
ader — ninit (n) —sxAURANKA

unlikely (adv) — HaBpsig uu

upright (a) — BepTUKaTBEHUN

Usefulness (n) — KOpHUCHICTb, MPUIATHICTD
Utilization (n) — BUKOpPUCTaHHS

Utilize (V) — BUKOpHUCTOBYBaTH

V.

Value (n) — BenmuunHa, 3Ha4CHHS, [IIHHICTh
Valve (n) — kianan

Vane (n) — jomactb

Guidevane (n) — HampaBsAOYa JOMACTH
Variable (a) — MiHIMBUH, 3MIHHHMA

Vary (V) — 3MiHIOBaTUCS

Vehicle (n) — TpancriopTHHIA 3aci0

Vibrate (n) — BibpyBaTH

Volume (n) — 06’em

W.

Walker (n) — mmardopmoBuii comomMoTpsic
Strawwalker(n) — kIaBIIITHII COITOMOTPSIC
Warm — up (n) — Temumii, HarpiBaTu
Warning (n) — nonepemxeHHs

Waxy (a) — BockoBui
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Wear (n) — 3HOIIYBaHHS

Weed (n) — Oyp’sH

Weeding (n) — mponontoBaHHs
Deadweight— BnacHa Bara

Wet (a) — cupuii, Bonmoruit

Wheat (n) — nmeHuns

Wheel (n) — xoneco

Wheelbase (n) — xomicHa 6a3a

Steering wheel (n) — pyaboBe ynpaBiiHHS
Windrower (n) — psiiKoBa >KHUBapKa
Windrowing (n) — BaJKOyTBOPEHHS, 3rpiOaHHs Y BaJIKU

Y.

Yield (n) - Bpoxait
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